
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

D & F BLOCK ELEMENTS

Level I Exercise

1. Which of the following statements concerning transition elements is

not true?

A. They are all metals

B. They easily form complexes

C. Compounds containing their ions are coloured

D. They show multiple oxidation states always di�ering by two units.

Answer: D

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Gootx40k9Cww


Watch Video Solution

2. Which element has pseudo inert gas electronic con�guration ?

A. 46

B. 45

C. 47

D. 48

Answer: A

Watch Video Solution

3. The highly stable pair of ions are

A. 

B. 

C. 

Fe2 + and Fe3 +

Fe2 + and Mn3 +

Fe3 + and Mn2 +

https://dl.doubtnut.com/l/_Gootx40k9Cww
https://dl.doubtnut.com/l/_HjUgTtLxydtN
https://dl.doubtnut.com/l/_uMWJuCZRoqo0


D. 

Answer: C

Watch Video Solution

Fe3 + and Fe4 +

4. Which of the following ion has three unpaired d-electrons

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ti2 +

V 3 +

Cr3 +

Mn2 +

https://dl.doubtnut.com/l/_uMWJuCZRoqo0
https://dl.doubtnut.com/l/_JVqB1KmOsjtF


5. Transition metal " X " has a con�guration  in its  oxidation

state . The atomic number of the metal is

A. 25

B. 26

C. 32

D. 19

Answer: A

Watch Video Solution

[Ar]3d4 +3

6. The number of 'd' electrons in  is not equal to that of

A. s-electrons in Mg

B. p-electrons in Ne

C. p-electrons in Ne

D. cl-electrons in Fe

Fe2 +

https://dl.doubtnut.com/l/_B3R4itqbeai9
https://dl.doubtnut.com/l/_CIU4Ws116n4o


Answer: C

Watch Video Solution

7. The pair of ions which do not have same number of unpaired electrons

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mn2 + and Fe3 +

Ti2 + and Ni2 +

Cu2 + and Ti3 +

Fe2 + and Ni2 +

8. (A): Outermost electronic con�guration of   

(R) : Pt in its ion attains pseudo inert gas con�guration The correct

Ptis5d9s1

https://dl.doubtnut.com/l/_CIU4Ws116n4o
https://dl.doubtnut.com/l/_e7bPKS4uCRS2
https://dl.doubtnut.com/l/_ng0uC5fkMIxv


answer is

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

Watch Video Solution

9. (A): Elements of second and third transition series have nearly same

atomic radii 

(R): Lanthanide contraction is observed in the elements from atomic

number 58 to 71. 

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not correct explanation of (A)

C. (A) is true but (R) is false

https://dl.doubtnut.com/l/_ng0uC5fkMIxv
https://dl.doubtnut.com/l/_Rj8DlHPcNysV


D. (A) is false but (R) is true

Answer: A

Watch Video Solution

10. Identify the correct statements among the following 

I) The transition elements have partially �lled (n-l) d orbitals. 

II) Cu is a better conductor of electricity than that of Ag. 

III)  are diamagnetic whereas  is paramagnetic.  

IV) Transitional elemelilts are less electro-positive than alkalimetals

A. I, II only

B. I,II,III only

C. I,IV only

D. I,III only

Answer: C

Watch Video Solution

Sc+ 3, zn+ 2 Ti+ 4

https://dl.doubtnut.com/l/_Rj8DlHPcNysV
https://dl.doubtnut.com/l/_9DEBJ6WL0BhK


11. Of the following outer electronic con�gurations of atoms, the highest

oxidation state is achieved by which one of them ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(n − 1)d8ns2

(n − 1)d5ns2

(n − 1)d3ns1

(n − 1)d5ns1

12. The common oxidation state of transition elements is

A. 

B. 

+II

+IV

https://dl.doubtnut.com/l/_9DEBJ6WL0BhK
https://dl.doubtnut.com/l/_pwjnUqAMxmT2
https://dl.doubtnut.com/l/_Oy548MsPPpmX


C. 

D. 

Answer: A

Watch Video Solution

+V I

+V II

13. Which of the following transition elements exhibit  oxidation state

A. Cu and Zn

B. Ru and Os

C. W and Pb

D. Ag and Au

Answer: B

Watch Video Solution

+8

https://dl.doubtnut.com/l/_Oy548MsPPpmX
https://dl.doubtnut.com/l/_LH39Rl3cGmt9


14. Manganese exhibits oxidation states from

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+IIto + V II

 + I to + VI

+Ito + V

+IIIto + V

15. The most stable oxidation state of Iron is

A. 

B. 

C. 

D. 

+II

+III

+I

+V I

https://dl.doubtnut.com/l/_gBiEZ0rHwWsG
https://dl.doubtnut.com/l/_2Urz8PEv2Ims


Answer: B

Watch Video Solution

16. The maximum oxidation state in 3d series elements is shown by

A. Cu

B. V

C. Mn

D. Fe

Answer: C

View Text Solution

17. The transition element that has stable con�guration in  oxidation

state is

+1

https://dl.doubtnut.com/l/_2Urz8PEv2Ims
https://dl.doubtnut.com/l/_kMkiiFD9GYVm
https://dl.doubtnut.com/l/_gsfMal4OEPXm


A. Cu

B. Zn

C. Sc

D. Mn

Answer: A

Watch Video Solution

18. Divalent Manganese is more stable due to

A.  con�guration

B.  con�guration

C.  con�guration

D.  con�guration

Answer: C

Watch Video Solution

3d4

3d2

3d5

3d3

https://dl.doubtnut.com/l/_gsfMal4OEPXm
https://dl.doubtnut.com/l/_SKiuP4JgPFrZ


19. The oxidation state of nickle in  is ____________

A. 

B. zero

C. 

D. 

Answer: B

Watch Video Solution

[Ni(CO)4]

+II

+III

+V III

20. The element which has half-�lled d-orbitals in its '+1' oxidation state is

A. Mn

B. Cr

C. Zn

https://dl.doubtnut.com/l/_SKiuP4JgPFrZ
https://dl.doubtnut.com/l/_XlaXHVZZ03OV
https://dl.doubtnut.com/l/_qDNclWyS2cWn


D. Fe

Answer: B

Watch Video Solution

21. Gold can exhibit the oxidation states

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+I and + III

+II and + III

+I and + III

+II and + IV

https://dl.doubtnut.com/l/_qDNclWyS2cWn
https://dl.doubtnut.com/l/_H3VpjBUAwyFX


22. The electronic con�guration of a transition element is .

The possible oxidation states are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Ar]4s23d3

+1 + 2, and + 3

+2 and + 3

+2, + 3, + 4 and + 5

+2 and + 5

23. The highest oxidation state is exhibited by the transition metal with

electronic con�guration 

A. 

B. 

C. 

(n − 1)d5ns2

(n − 1)d5ns2

(n − 1)d8ns2

https://dl.doubtnut.com/l/_o4wVMexruBvp
https://dl.doubtnut.com/l/_gC27zE0nNnld


D. 

Answer: D

Watch Video Solution

(n − 1)d6ns2

24. The transition element having highest oxidation state belongs to

which group?

A. VIII

B. 

C. 

D. 

Answer: A

Watch Video Solution

V IIB

VB

IVB

https://dl.doubtnut.com/l/_gC27zE0nNnld
https://dl.doubtnut.com/l/_FV5egJBydMjU


25. Coloured complexes absorb radiation in the

A. visible region

B. infrared region

C. U.V. region

D. far IR region

Answer: A

Watch Video Solution

26. Coloured ion among the following is

A. 

B. 

C. 

D. 

Zn2 +

Mn2 +

Cu1 +

Ti4 +

https://dl.doubtnut.com/l/_cTRKWTkprz8m
https://dl.doubtnut.com/l/_6HClz3UlQYXN


Answer: B

Watch Video Solution

27. In aqueous solution which of the following colour is exhibited by Nici,

A. pink

B. green

C. green

D. yellow

Answer: B

Watch Video Solution

28. The ion which exhibits orange red colour in aqueous solution is

A. Cr2O
2 −
7

https://dl.doubtnut.com/l/_6HClz3UlQYXN
https://dl.doubtnut.com/l/_VtriVRiV27Bw
https://dl.doubtnut.com/l/_aPhGJvXzxhjB


B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO
2 −
4

MnO
−
4

Cr3 +

29. The following ion is colourless in aqueous solution ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti2 +

Cu2 +

Ni2 +

Zn2 +

https://dl.doubtnut.com/l/_aPhGJvXzxhjB
https://dl.doubtnut.com/l/_KQTYsOSarjgu
https://dl.doubtnut.com/l/_sjCF6JGAJVnI


30. Which of the following pairs of ions are colourless?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ti+ 3, Cu+ 2

Sc+ 3, Zn+ 2

Co+ 2, Fe+ 3

Ni+ 2, V + 3

31. The following ion exhibits colour in aqueous solution ?

A. 

B. 

C. 

D. 

Sc3 +

Cu2 +

Ni2 +

Zn2 +

https://dl.doubtnut.com/l/_sjCF6JGAJVnI
https://dl.doubtnut.com/l/_5j6g7W7tFjZ2


Answer: C

Watch Video Solution

32. (A):  ion in aqueous solutions is colorless  

(R) : Ions with do con�guration are colorless 

A. Both (A) and (R) are true and (R) is thecorrect explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

Watch Video Solution

Sc+ 3

https://dl.doubtnut.com/l/_5j6g7W7tFjZ2
https://dl.doubtnut.com/l/_5bg3TmeizkoV


33. The atomic number of an element 'M' is 26. How many electrons are

present in the M-shell of the element in its  state ?

A. 5

B. 14

C. 12

D. 13

Answer: D

Watch Video Solution

M 3 +

34. Element furnishing coloured ions in the aqueous medium is

A. Zn

B. Hg

C. Cu

D. Al

https://dl.doubtnut.com/l/_2U7wkr42u4zL
https://dl.doubtnut.com/l/_JzZ2lBotVBCO


Answer: C

Watch Video Solution

35. Hydrated  ions absorb light of ..... colour and transmit light of

....... colour

A. red and blue

B. green and purple

C. purple and red

D. blue and red

Answer: A

Watch Video Solution

Cu2 +

36.  and CrO
2 −
4 MnO

−
4

https://dl.doubtnut.com/l/_JzZ2lBotVBCO
https://dl.doubtnut.com/l/_ooVt1DjH4L31
https://dl.doubtnut.com/l/_jl3tSKDeXWc1


A. presence of unpaired electrons in 'd' orbtials of Cr and Mn

B. charge transfer phenomenon

C. d-d electron transition

D. close packing crystal structure

Answer: B

Watch Video Solution

37. The colour of  is due to

A. transfer of electron from Titanium to another atom of Titanium

B. presence of water molecules

C. d-d transition

D. intra molecular vibration

Answer: C

Watch Video Solution

[Ti(H2O)6]
3 +

https://dl.doubtnut.com/l/_jl3tSKDeXWc1
https://dl.doubtnut.com/l/_LEzHrG8NL8Ou


38. Transition metal which forms green compounds in its  oxidation

state and orange red compounds in its  oxidation state is

A. Cobalt

B. Chromium

C. Iron

D. Nickel

Answer: B

Watch Video Solution

+3

+6

39. Complementary colour of green light of wavelength  is

A. purple

B. blue

C. red

5000A ∘

https://dl.doubtnut.com/l/_LEzHrG8NL8Ou
https://dl.doubtnut.com/l/_FzKwt9glP8H9
https://dl.doubtnut.com/l/_hC4PqiFeRhxC


D. grey

Answer: A

Watch Video Solution

40.  is purple but  is colourless. This is because

A.  con�guration of 

B.  con�guration of 

C.  con�guration of 

D.  con�guration of 

Answer: A

Watch Video Solution

Ti3 + Ti4 +

d1 Ti3 +

d ∘ Ti3 +

d3 Ti3 +

d10 Ti3 +

https://dl.doubtnut.com/l/_hC4PqiFeRhxC
https://dl.doubtnut.com/l/_53cZ4mvDSjee


41. A transitional metal  in its hydrated state has six 3d electrons.

The colour of ion is expected as

A. Green

B. Pink

C. Blue

D. Yellow

Answer: A

Watch Video Solution

X + 2

42. (A) : Transition metals form colored ions 

(R): They have completely �lled d-orbitals in the nth shell.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

https://dl.doubtnut.com/l/_LLmQUdRyaMr0
https://dl.doubtnut.com/l/_kNkLkepCD2R3


C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

Watch Video Solution

43. The formula to calculate paramagnetic moment of a substance is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

μs√4S + 2B. M

μs = √n(n + 2)B. M

μs = √n(n + 4)B. M

μs = √L(L + 2)

https://dl.doubtnut.com/l/_kNkLkepCD2R3
https://dl.doubtnut.com/l/_Qt829NtpmsK2


44. The value of B.M in SI units is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

9.273 × 10− 23J. T − 1

9.273 × 1024J. T − 1

9.273 × 10− 24J. T − 1

9.273 × 1023

45. Magnetic moment of diamagnetic substance in Bohr magnetons is

A. 1.73

B. 2.83

C. 2.83

D. 0

https://dl.doubtnut.com/l/_Wbia4DETbEoK
https://dl.doubtnut.com/l/_nzwnYR5VhAra


Answer: D

Watch Video Solution

46. Which of the following set of elements are Ferromagnetic in nature

A. Zn, Cd and Hg

B. Cu, Ag and Au

C. Fe, Co and Ni

D. Sc, Ti and U

Answer: C

Watch Video Solution

47. Substances which are repelled by the external magnetic �eld are

called

https://dl.doubtnut.com/l/_nzwnYR5VhAra
https://dl.doubtnut.com/l/_UjvtDXQo12L6
https://dl.doubtnut.com/l/_0wpi2eptKVBL


A. diamagnetic

B. paramagnetic

C. ferromagnetic

D. antiferromagnetic

Answer: A

Watch Video Solution

48. The following is paramagnetic

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaCl2

CuCl2

ZnCl2

NaCl

https://dl.doubtnut.com/l/_0wpi2eptKVBL
https://dl.doubtnut.com/l/_gvU7ts3LCH3a


49. The following ion exhibits highest magnetic moment?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu2 +

Ti3 +

Ni2 +

Mn2 +

50. The calculated magnetic moment of  ion

A. 1.73 B.M.

B. zero

C. 2.6 B.M.

Cu2 +

https://dl.doubtnut.com/l/_gvU7ts3LCH3a
https://dl.doubtnut.com/l/_aRVXomKPthV9
https://dl.doubtnut.com/l/_r11oidu2YuZx


D. 3.4 B.M.

Answer: A

Watch Video Solution

51. Ferrous ion changes to 'X' ion, on reacting with acidi�ed hydrogen

peroxide. The number of d-electrons present in 'X' and its magnetic

moment are

A. 6 and 6.93 B.M.

B. 5 and 5.92 B.M.

C. 5 and 4.9 B.M.

D. 4 and 5.92 B.M.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_r11oidu2YuZx
https://dl.doubtnut.com/l/_fyqgz9lcboND
https://dl.doubtnut.com/l/_efpmpP9dhvh8


52. (A): The spin only magnetic moment of  1.73 BM  

(R) : The spin only magnetic moment (in BM) of an ion is equal to

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the. corre:r.t p.xphmation of

(A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: D

Watch Video Solution

Sc+ 3

√n(n + 2)

53. Which of the following pair of transition metal ions, have the same

calculate values of magnetic moment ?

A. Ti+ 2&V + 2

https://dl.doubtnut.com/l/_efpmpP9dhvh8
https://dl.doubtnut.com/l/_rlo4rmp7rBXO


B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe+ 2 % Co+ 2

Cr+ 2&Fe+ 2

Co+ 2&Ti+ 2

54. Which one of the following has diamagnetism?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Co2 +

Cu2 +

Mn2 +

Sc3 +

https://dl.doubtnut.com/l/_rlo4rmp7rBXO
https://dl.doubtnut.com/l/_9ylarQsx6xS3
https://dl.doubtnut.com/l/_5bdkYtOejJGs


55. Which of the following ions has the maximum magnetic moment

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mn+ 2

Fe+ 2

Ti+ 2

Cr3 +

56. The spin only magnetic moment of  in aquous solution would be

A. 1.73

B. 2.84BM

C. 4.9BM

D. 0

Ni2 +

https://dl.doubtnut.com/l/_5bdkYtOejJGs
https://dl.doubtnut.com/l/_QvGtbCkegqWP


Answer: B

Watch Video Solution

57. The magnetic moment of  is similar to that of

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr3 +

Fe2 +

Fe3 +

Co3 +

Co2 +

58. The magnetic moment of an ion in its  oxidation state is 3.85 BM.

The number of unpaired d-electrons present in it are

+3

https://dl.doubtnut.com/l/_QvGtbCkegqWP
https://dl.doubtnut.com/l/_posG2LRQyt1r
https://dl.doubtnut.com/l/_SOsRmz6zeWYi


A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

59. The ion with highest magnetic moment is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

V 3 +

Cr3 +

Fe3 +

Co3 +

https://dl.doubtnut.com/l/_SOsRmz6zeWYi
https://dl.doubtnut.com/l/_2u7mPpW6cdw6


60. The pair of ions which do not have diamag netic nature

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu1 + and Zn2 +

Sc3 + and Ti4 +

Ca2 + and Zn2 +

V 2 + and Fe2 +

61. The magnetic moment of an ion is  B.M. Then that ion may be

A. 

B. 

C. 

√24

Mn2 +

Fe2 +

Fe3 +

https://dl.doubtnut.com/l/_2u7mPpW6cdw6
https://dl.doubtnut.com/l/_CUBLgtxpQDet
https://dl.doubtnut.com/l/_UnXdz3QchNsi


D. 

Answer: B

Watch Video Solution

Cu2 +

62. The highest degree of paramagnetism is shown by 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CoCl2. H2O

MnSO3.4H2O

FeCl2.4HO

NiCl2.6H2O

https://dl.doubtnut.com/l/_UnXdz3QchNsi
https://dl.doubtnut.com/l/_5y2u2EIWCahV


63.  ion of the �rst transition series metal 'M' has a magnetic

moment 1.73 BM. The atomic number of the metal 'M' is

A. 21

B. 24

C. 29

D. 22

Answer: D

Watch Video Solution

M 3 +

64.  ion has magnetic moment 2.84 BM. Then 'x' is (Z of M = 23) 

A. 3

B. 2

C. 4

D. 1

M x+

https://dl.doubtnut.com/l/_TbJp71GruVMH
https://dl.doubtnut.com/l/_SYbusTwjxT0F


Answer: A

Watch Video Solution

65. The value of paramagnetic moment of  ion in Bohr magnetons is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ti3 +

273 × 10− 24

16.042 × 10− 24

26.34 × 10− 24

16.042 × 10− 27

66. What is the correct order of spin only magnetic moment (in BM) of

? Mn+ 2, Cr& ( + 2) and V + 2

https://dl.doubtnut.com/l/_SYbusTwjxT0F
https://dl.doubtnut.com/l/_Zc5QKgZkqx0z
https://dl.doubtnut.com/l/_0hvPGS4AJHI3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Mn+ 2 > V + 2 > Cr+ 2

V + 2 > Cr+ 2 > Mn+ 2

Mn+ 2 > Cr+ 2 > V + 2

Cr+ 2 > V + 2 > Mn+ 2

67. In which of the following 'd' subshells are degenerate

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu2 +
( aq )

Fe2 +
( aq )

Fe3 +
( aq )

Cr1 +
( aq )

https://dl.doubtnut.com/l/_0hvPGS4AJHI3
https://dl.doubtnut.com/l/_m9onmrn2LB0I


68. Metals constitute brass are

A. Zn and Cu

B. Cu and Sn

C. Cu and Sn

D. eu, Zn and Sn

Answer: A

Watch Video Solution

69. Bronze is an alloy of

A. Cu + Sn

B. Cu + Zn

C. Pb + Sn + Zn

https://dl.doubtnut.com/l/_m9onmrn2LB0I
https://dl.doubtnut.com/l/_noGEDU6DImgG
https://dl.doubtnut.com/l/_TwABd4YrTbvD


D. Pb + Zn

Answer: A

Watch Video Solution

70. The metal not present in german silver is

A. Ag

B. Cu

C. Ni

D. Zn

Answer: A

Watch Video Solution

71. Steels are generally prepared by----------- method

https://dl.doubtnut.com/l/_TwABd4YrTbvD
https://dl.doubtnut.com/l/_tEAcA8vZAuSX
https://dl.doubtnut.com/l/_mMJQd0oPuEpZ


A. Compressed method

B. Oxidation

C. Quenching

D. Electrylytic deposition

Answer: C

Watch Video Solution

72. Percentage of carbon in the steels is nearly

A. 0.03

B. 0.02

C. 0.002

D. 0.1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mMJQd0oPuEpZ
https://dl.doubtnut.com/l/_VCDgtB4YaCcP


73. Which one of the following is used to remove moisture from

ammonia?

A. Type metal

B. Devarda's metal

C. Wood's metal

D. Solder metal

Answer: B

Watch Video Solution

74. Which among the following is an example of Ferrous alloy

A. Wood's metal

B. Type metal

C. lnvar

https://dl.doubtnut.com/l/_VCDgtB4YaCcP
https://dl.doubtnut.com/l/_5Y9tRkupG7IP
https://dl.doubtnut.com/l/_tNC8BFq4H5Rw


D. Solder metal

Answer: C

Watch Video Solution

75. Which of the following alloys does not contain copper

A. Devarda alloy

B. Aluminium bronze

C. German silver

D. Magnalium

Answer: D

Watch Video Solution

76. Gun metal is an alloy of .....

https://dl.doubtnut.com/l/_tNC8BFq4H5Rw
https://dl.doubtnut.com/l/_iMdBhA4YQD3q
https://dl.doubtnut.com/l/_54x64LbjOSoW


A. Cu and Fe

B. Cu,Sn and Zn

C. Ni,Fe and Cr

D. Al and Mg

Answer: B

Watch Video Solution

77. Which of the following is ferrous alloy?

A. German Silver

B. Gunmetal

C. Nichrome

D. Devarda's alloy

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_54x64LbjOSoW
https://dl.doubtnut.com/l/_bj9AvbLorDH8


78. (A): Transition elements form alloys easily 

(R) : Transition elements have high melting points

A. Both (A) and (R) are true and (R) is thecorrect explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: B

Watch Video Solution

79. Transition elements form alloys easily because they have

A. same number of shells

B. same electronic con�guration

https://dl.doubtnut.com/l/_bj9AvbLorDH8
https://dl.doubtnut.com/l/_unQSvCA9GunN
https://dl.doubtnut.com/l/_6rzhc6PK6daO


C. nearly same atomic size

D. same atomic weight

Answer: C

Watch Video Solution

80. The common metal present in German Silver, Bell metal and Brass is

A. Fe

B. Cu

C. Zn

D. Sn

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6rzhc6PK6daO
https://dl.doubtnut.com/l/_bpgqTDqlOHU7


81. The correct statement among the following is

A. The colour of  -ion is due to d-d transition of unpaired

electrons

B. Transition elements form a large number of alloys, because of

similar boiling points

C. Bronze is an alloy of Copper and Zinc

D. Salt of  ion has greenish colour

Answer: D

Watch Video Solution

Cr2O
2 −
7

Fe2 +

82. Alloy formation ability of transition elements is due to

A. same crystalline structures

B. same atomic radii

https://dl.doubtnut.com/l/_Lpd0z4AXsWTz
https://dl.doubtnut.com/l/_PoJsC1mxG4IC


C. similar chemical properties

D. anyone of these properties

Answer: D

Watch Video Solution

83. The alloy containing highest percentage composition of copper is

A. German silver

B. Aluminium Bronze

C. Bell metal

D. Brass

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PoJsC1mxG4IC
https://dl.doubtnut.com/l/_Xgd3BSMov4ur


84. Which of the following is used for sharply de�ned castings

A. Soldermetal

B. Wood's metal

C. Type metal

D. Devarda's alloy

Answer: C

View Text Solution

85. Identify the correct statements among the following 

I) Both Cr and Cu show +1 oxidation state 

II) The complementary colour of absorbed green colour of visible

radiation is purple. 

III)  ion in its hydrated state exhibits green colour  

IV) Devarda's alloy contains least percentage of 'Zn

Ni+ 2

https://dl.doubtnut.com/l/_F30F2RsFd5Ti
https://dl.doubtnut.com/l/_cEoSqW6xuc98


A. All

B. I,II,III only

C. I,IV only

D. I,III only

Answer: A

Watch Video Solution

86. The percentage of copper, tin and zinc metals present in 'Gun metal'

respectively are

A. 88,2,10

B. 88,10,2

C. 80,20,Zero

D. 80,zero,20

Answer: B

https://dl.doubtnut.com/l/_cEoSqW6xuc98
https://dl.doubtnut.com/l/_Qa4sJI6vnvsj


Watch Video Solution

87. Gun metal is an alloy of .....

A. Cu and Fe

B. Cu, Sn & Zn

C. Ni, Fe and Cr

D. Al and Mg

Answer: B

Watch Video Solution

88. Alloy used for making ball mills

A. Nickel steel

B. Manganese steel

C. Tungsten steel

https://dl.doubtnut.com/l/_Qa4sJI6vnvsj
https://dl.doubtnut.com/l/_MQwxXxDh7VkL
https://dl.doubtnut.com/l/_EwJFfPtBLtiL


D. Chrome steel

Answer: B

Watch Video Solution

89. Percentage of silver in the alloy of German silver

A. 1.5

B. 2.5

C. 10

D. zero

Answer: D

Watch Video Solution

90. Which of the following is ferrous alloy?

https://dl.doubtnut.com/l/_EwJFfPtBLtiL
https://dl.doubtnut.com/l/_Rhry2AWpnrb2
https://dl.doubtnut.com/l/_ZKwywtA2CKSp


A. German Silver

B. Gun metal

C. Nichrome

D. Devarda's alloy

Answer: C

Watch Video Solution

91. Which of the following is an interstitial compound

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

PdCl2

PdH

SiC

https://dl.doubtnut.com/l/_ZKwywtA2CKSp
https://dl.doubtnut.com/l/_StuqF0Qkbh1k


92. The type of bond expected to be formed atoms between of two

elements in interstitial compounds is

A. Covalent

B. Ionic

C. Metallic

D. None

Answer: D

Watch Video Solution

93. Which of the following is not the property of interstitial compound

A. They have high M.P, higher than those of pure metals

B. They are less hardeer than diamond

C. They retain metallic conductivity

https://dl.doubtnut.com/l/_StuqF0Qkbh1k
https://dl.doubtnut.com/l/_uwwekDGLOo4D
https://dl.doubtnut.com/l/_pq0iEeeynIcO


Level Ii Lecture Sheet Exercise I Single One Or More Than One Correct

Answers

D. Their chemical reactivity is very high

Answer: D

Watch Video Solution

1.   

 Pink which of the following is correct ?

A. X back , Y = Blue, 

B. X=green  Y=yellow 

C. X=black ,  Y= green 

D. X = black , Y = Colouless 

Answer: C

Watch Video Solution

(X) + K2CO3 + Air
heat
−−→ (Y )

(Y ) + Cl2 → (Z)

MnO2 K2CrO4, Z = KMnO4

Cr2O3 K2CrO4, ZK2CrO7

MnO2 K2MnO4, Z = KMnO4

Bi2O3, KBiO2, Z = KBiO2

https://dl.doubtnut.com/l/_pq0iEeeynIcO
https://dl.doubtnut.com/l/_MSqxPtbhlkoO


2. Aufbau law is nol valiJ [ut

A. 

B. 

C. both

D. Fe and Ag

Answer: C

Watch Video Solution

Cu

Cr

3. Identify the incorrect statements

A. Iron belongs to �rst transition series of the periodic table

B. The purest form of commercial iron is wrought iron

C. Anhydrous ferrous sulphate is called as yellow vitriol

https://dl.doubtnut.com/l/_MSqxPtbhlkoO
https://dl.doubtnut.com/l/_iFyGceQHHYlm
https://dl.doubtnut.com/l/_GuzvFux0lcx5


D. Iron is the most abundant transition metal

Answer: C

Watch Video Solution

4. Which of the following properties would you not expect copper to

exhibit:

A. Malleability

B. Low thermal conductivity

C. Low electrical conductivity

D. Ductility

Answer: B::C

Watch Video Solution

https://dl.doubtnut.com/l/_GuzvFux0lcx5
https://dl.doubtnut.com/l/_YSvl4eY5YNjk


5. Mercury is a liquid at C because of

A. Very high ionisation energy

B. weak metallic bonds

C. high heat of hydration

D. high heat of sublimation

Answer: B

Watch Video Solution

0∘

6. Which statements about mercury are correct?

A. Hg is a liquid metal

B. Hg forms two series of salts

C. Hg forms no amalgam with iron and platinum

D. Anhydrous Hg does not show variable valency

https://dl.doubtnut.com/l/_3HSQJqUmBnaK
https://dl.doubtnut.com/l/_BpBsJiqKOKRq


Answer: A::B::C::D

Watch Video Solution

7. Mercurous ion can be represented as

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

Hg+

Hg+ − Hg+

Hg2 +
2

Hg2 +

8. Transition elements with  con�guration are:

A. Cr

4s1

https://dl.doubtnut.com/l/_BpBsJiqKOKRq
https://dl.doubtnut.com/l/_DSfqCnmhmZoT
https://dl.doubtnut.com/l/_OgswfVyNEKH4


B. Mn

C. Ni

D. Cu

Answer: A::D

Watch Video Solution

9. Identify the correct statements :

A. Iron is the most abundant transition metal

B. Cast iron is the purest form of iron

C. The most stable oxidation state of iron is +3

D. Iron does not form amalgam with mercury

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_OgswfVyNEKH4
https://dl.doubtnut.com/l/_s7R2xHS7V5hX
https://dl.doubtnut.com/l/_h74MPbCNNbJG


10. An element of 3d-transition series shows two oxidation states x and y,

di�ere by two units then

A. Compounds in oxidation state x are ionic if 

B. Compounds in oxidation state x are ionic if 

C. Compounds in oxidation state y are covalent 

D. Compounds in oxidation state y are covalent 

Answer: B::C

Watch Video Solution

x > y

x < y

x < y

y < x

11. Which of the following forms interestitial compounds(s)?

A. Fe

B. Ni

C. Co

D. None to these

https://dl.doubtnut.com/l/_h74MPbCNNbJG
https://dl.doubtnut.com/l/_xdYonj89Wxlq


Answer: A::B::C

Watch Video Solution

12. The stable oxidation state of Mn are

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

+2

+7

+3

+5

13. Which of the following compounds is coloured

A. Na2CuCl4

https://dl.doubtnut.com/l/_xdYonj89Wxlq
https://dl.doubtnut.com/l/_fQnKFKYWgLSV
https://dl.doubtnut.com/l/_iiVjzZ5TPhTp


B. 

C. 

D. All the above

Answer: B

Watch Video Solution

Na2CoCl4

K4[Fe(CN)6]

14. Which of the following compounds is expected to be coloured :

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

Ag2SO4

CuF2

MnCl2

CuCl

https://dl.doubtnut.com/l/_iiVjzZ5TPhTp
https://dl.doubtnut.com/l/_idvxALpfBu2A
https://dl.doubtnut.com/l/_7IYc27IPMhzz


15. The aqueous solution of the following salt will be coloured in the case

of :

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

Zn(NO3)2

LiNO3

Co(NO3)2

CrCl3

16. A metal M and is compound can give the following observable changes

in a consequence ofreactions 

https://dl.doubtnut.com/l/_7IYc27IPMhzz
https://dl.doubtnut.com/l/_p3hKJ9nFXabn


A. Mg

B. Pb

C. Zn

D. Sn

Answer: C

View Text Solution

17. Each of the following ion contains vanadium the + V oxidation state

except

A. 

B. 

C. 

D. 

Answer: C

VO+
2

V (OH)
+
4

VO2 +

[VO3. OH]2 −

https://dl.doubtnut.com/l/_p3hKJ9nFXabn
https://dl.doubtnut.com/l/_z6FENxtQsHgT


Watch Video Solution

18. Which of the following are not coloured due lo charge transfer

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

K2Cr2O7

KMnO4

[Fe(H2O)5NO]SO4

MnO2

19. Oxides of which of the following melals show oxidation state of +8 ?

A. 

B. Os

C. Mn

Ru

https://dl.doubtnut.com/l/_z6FENxtQsHgT
https://dl.doubtnut.com/l/_k6QP715lQxs1
https://dl.doubtnut.com/l/_T4cdqlfjv9zN


D. Zn

Answer: A::B

Watch Video Solution

20. Select the compounds having metal in zero oxidation state

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Ni(CO)4

Cr(CO)6

Fe2(CO)9

CO(CO)6

https://dl.doubtnut.com/l/_T4cdqlfjv9zN
https://dl.doubtnut.com/l/_LUt2O60gO1xp


21. Among the following , identify the species with an atom in + 6

oxidation state

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

KMnO4

K2MnO4

CrO2Cl2

K3Cr(CN)6

22. The oxidation state(s) of copper is (are)

A. 

B. 

C. 

D. 

+1

+2

+3

−1

https://dl.doubtnut.com/l/_0XBmYKURtSfS
https://dl.doubtnut.com/l/_P9tNYqH1ADdb


Answer: A::B

Watch Video Solution

23. Duraluminium an alloy contains :

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Mg

Cu

Al

Mn

24. Manganese steel contains

A. Fe

https://dl.doubtnut.com/l/_P9tNYqH1ADdb
https://dl.doubtnut.com/l/_Ps10p2VrrJqY
https://dl.doubtnut.com/l/_W85UYzXtLSY9


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

C

Mn

Cr

25. The stainless steel developed in India contains the following special

components

A. Cobalt

B. Chromium

C. Manganese

D. Aluminium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_W85UYzXtLSY9
https://dl.doubtnut.com/l/_oEckk1pZ13rK


26. Which of the following is(are) alloy(s) not containing copper?

A. Bell metal

B. Brass

C. Steel

D. Duraluminium

Answer: C

Watch Video Solution

27. Which of the following statement(s) is (are) correct. When a mixture of

 and  is gently warmed with conc. 

A. A deep red vapours is evolved

B. The vapours when passed into NaOH solution gives a yellow

solution of 

NaCl K2Cr2O2 H2SO4

Na2CrO4

https://dl.doubtnut.com/l/_oEckk1pZ13rK
https://dl.doubtnut.com/l/_8n0BA2pRVrg4
https://dl.doubtnut.com/l/_pAWpSQlfiGk8


C. Chlorine gas is evolved

D. Chromyl chloride is formed

Answer: A::B::C::D

Watch Video Solution

28.  is formed when :

A.  is passed into  solution

B. Manganese dioxide is fused with potassium hydroxide in air

C. Fonnaldehyde reacts with potassium pennanaganate in presence of

a strong alkali

D. Potassium pennanaganate reacts with conc 

Answer: B::C

Watch Video Solution

K2MaO4

Cl2 KMnO4

H2SO4

https://dl.doubtnut.com/l/_pAWpSQlfiGk8
https://dl.doubtnut.com/l/_0K1xQiIMRFOq
https://dl.doubtnut.com/l/_f5xpxoOdimGN


29. Which of the following is (are) correct:

A. Calomel is mercuric chloride

B. Calomel is widely used as an antispetic

C. Calomel is used medically as purgative

D. Calomel is freely soluble in water.

Answer: C

Watch Video Solution

30. Which statement (s) is (are) incorrect:

A.  reacts with 

B. Carbonyl complexes are usually formed with transition metals

C. All transition metals fonn mono-metallic carbonyls

Fe(CO)5 Br2Cl4

https://dl.doubtnut.com/l/_f5xpxoOdimGN
https://dl.doubtnut.com/l/_95Yy1G72BUJN


D. The decomposition of  to give Ni is used in the extraction

of Ni by Mond's process

Answer: C

Watch Video Solution

Ni(CO)4

31. If, in an ammonical solution, salts which produce a black precipate

when  is passed through themselves, may be :

A. A nickel salt

B. A mercury salt

C. A cobalt salt

D. A lead saltc

Answer: A::C::D

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_95Yy1G72BUJN
https://dl.doubtnut.com/l/_pKJmjglLkD7K
https://dl.doubtnut.com/l/_9btqmQVhxsGV


32. Which of the following metals will not react with solution of  ?

A. Fe

B. Zn

C. Mg

D. Ag

Answer: A::B::C

Watch Video Solution

CuSO4

33. Which of the following statement(s) is (are) true for Mohr's salt ?

A. It does not decolourises  solution

B. It is a double salt

C. Oxidation state of Fe is +3

D. It is a secondary standard solution

KMnO4

https://dl.doubtnut.com/l/_9btqmQVhxsGV
https://dl.doubtnut.com/l/_ImHxIo2fZ9K6


Answer: B

Watch Video Solution

34.  (yellow) chages to  (orange) in . Hence x and y

are

A. 6,8

B. 6,5

C. 8,6

D. 7,7

Answer: A

Watch Video Solution

CrO
2 −
4 Cr2O

2 −
7 pH = y

35. The catalyst used in the manufacture of sulphuric acid by contact

process is

https://dl.doubtnut.com/l/_ImHxIo2fZ9K6
https://dl.doubtnut.com/l/_KcPiyoYiUIaK
https://dl.doubtnut.com/l/_tImBQLseETyw


A. 

B. 

C. 

D. Platinised asbestos

Answer: B::D

Watch Video Solution

NO(g)

V2O5

Mo

36. Iodine is liberated on adding potassium iodide solution to solution(s)

of

A. 

B. 

C. 

D. 

Answer: C

ZnCl2

FeCl2

CuSO4

AlCl3

https://dl.doubtnut.com/l/_tImBQLseETyw
https://dl.doubtnut.com/l/_5FEVZKal6eBE


Watch Video Solution

37. Select the wrong statement(s) :

A. Iron does not fonn amalgam with mercury

B. Hg vapours are poisonous

C. Hg is divalent in mercurous compounds

D. Oxy-salts of mercury are thennally unstable

Answer: A::B::C

Watch Video Solution

38. Which of the following statement(s) is (are) con-ect ?

A.  dissoloves in hot water

B. gives HCI when treated with sulphuric acid

C.  gives yellow precipitate with NaOH

HgCl2

HgCl2

HgCl2

https://dl.doubtnut.com/l/_5FEVZKal6eBE
https://dl.doubtnut.com/l/_ITuOwz1t8eGs
https://dl.doubtnut.com/l/_HnGlgz4lWNpW


D. gives white ppt with ammonium  hydroxide

Answer: A::C::D

Watch Video Solution

HgCl2

39. CuCN reacts with  to give

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

FeCl3

CuCl2

Cu(CN)2

(CN)2

All

https://dl.doubtnut.com/l/_HnGlgz4lWNpW
https://dl.doubtnut.com/l/_ziqFC1uihUXQ


40.   

respectively in the given reactions

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I2IO
−
3

IO−
3 , IO−

4

IO−
3 , I2

I2O5, IO−
3

41. Transition elements form complexes due to

A. d-d transition

https://dl.doubtnut.com/l/_u5iOBQuywEOu
https://dl.doubtnut.com/l/_xepIsnF3HG4A


B. charge transfer

C. Varible oxidation state

D. small size and high charge

Answer: D

Watch Video Solution

42. The complex forming ability of a transition metal depends upon

A. availability of vacant d-orbital

B. high ionisation potential

C. small size of cation or high charge density

D. variable oxidation states

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_xepIsnF3HG4A
https://dl.doubtnut.com/l/_kINmxe9I0dkZ
https://dl.doubtnut.com/l/_2AooRo5E3pA9


43. Which of the following statement is incorrect?

A.  is less basic than 

B. In lanthanide series ionic radius of decreases from 

ion

C. La is actually an element of transition series rather than

lanthanides

D. Atomic radius of Zr and Hf are same because of lanthanide

contraction

Answer: A

Watch Video Solution

La(OH)3 Lu(OH)3

La3 +  toLu3 +

44. Lanthanides are separated best by

A. Fractional crystallization

https://dl.doubtnut.com/l/_2AooRo5E3pA9
https://dl.doubtnut.com/l/_2sFl22aNATFR


B. solvent extraction

C. Complex formation using EDTA

D. Ion exchange resins

Answer: D

Watch Video Solution

45. Which of the following statements regarding Ni and Pt are correct

A.  is more stable than 

B.  is more stable then 

C. Pt does not from amalgums

D. both are used in hydrogenation

Answer: A::B::C::D

Watch Video Solution

Ni2 + Pt2 +

Pt4 + Ni4 +

https://dl.doubtnut.com/l/_2sFl22aNATFR
https://dl.doubtnut.com/l/_IQIGnBJD45Zn
https://dl.doubtnut.com/l/_yHjcHXShSzD7


46. Identify incorrect statement

A. Lanthanides donot form oxoions

B. Lanthanides and actinides are tripositive

C. Trivalent sulphates of f-block are water soluble

D. Trivalent �uorides of f-block elements are water soluble

Answer: A::D

Watch Video Solution

47. Which of the following is true for Mohr's salt

A. Decolourises  acidic medium

B. It is a uouble salt

C. It gives red colouration with thiocyanate

D. Used as a primary standard

KMnO4

https://dl.doubtnut.com/l/_yHjcHXShSzD7
https://dl.doubtnut.com/l/_EEe5xv2kujSc


Level Ii Lecture Sheet Exercise Ii Linkd Comperhension Type Questions

Answer: A::B::C::D

Watch Video Solution

1. A metal sulphide A gives gas B with rotten egg smell and a colourless

sulphate C, when treated with dil . B reacts with 

to form D, a white grey element. D burns in oxygen to yield E a colourless

gas. If B is added to E, it gives D and a colourless liquid, which turns

anhydrous  blue. C gives precipitate with  or NaOH,

which dissolves in excess of NaOH 

A. 

B. 

C. 

D. 

H2SO4 K2Cr2O7 /H +

CuSO4 NH3 ( aq )

CuSO4

BaSO4

ZnSO4

Na2ZnO2

https://dl.doubtnut.com/l/_EEe5xv2kujSc
https://dl.doubtnut.com/l/_BbyFhEgd3pUM


Answer: C

Watch Video Solution

2. A metal sulphide A gives gas B with rotten egg smell and a colourless

sulphate C, when treated with dil . B reacts with 

to form D, a white grey element. D burns in oxygen to yield E a colourless

gas. If B is added to E, it gives D and a colourless liquid, which turns

anhydrous  blue. C gives precipitate with  or NaOH,

which dissolves in excess of NaOH 

A. Zn

B. Cu

C. S

D. Ba

Answer: C

Watch Video Solution

H2SO4 K2Cr2O7 /H +

CuSO4 NH3 ( aq )

https://dl.doubtnut.com/l/_BbyFhEgd3pUM
https://dl.doubtnut.com/l/_oRE5SMryJpvV


3. A metal sulphide A gives gas B with rotten egg smell and a colourless

sulphate C, when treated with dil . B reacts with 

to form D, a white grey element. D burns in oxygen to yield E a colourless

gas. If B is added to E, it gives D and a colourless liquid, which turns

anhydrous  blue. C gives precipitate with  or NaOH,

which dissolves in excess of NaOH 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO4 K2Cr2O7 /H +

CuSO4 NH3 ( aq )

H2S

SO3

SO2

CS2

https://dl.doubtnut.com/l/_oRE5SMryJpvV
https://dl.doubtnut.com/l/_6gOyFYfOfg5E


4.  is the most important oxide of manganese.  occurs

naturally as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to  C. It is used in the

preparation of potassium permanaga-nate and in the production of 

gas. Over half a million tonnes per year of  is used in dry batteries 

In the laboratory,  is made by :

A. heating Mn in 

B. oxidising  in air

C. electrolytic oxidation of 

D. Precipitating  from solution when perfoming titration of 

Answer: D

Watch Video Solution

MnO2 MnO2

Mn3O4 5300

Cl2

MnO2

MnO2

O2

Mn2 +

MnO4

MnO2

KMnO4

https://dl.doubtnut.com/l/_rX7ZByhRPn0F


5.  is the most important oxide of manganese.  occurs

naturally as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to  C. It is used in the

preparation of potassium permanaga-nate and in the production of 

gas. Over half a million tonnes per year of  is used in dry batteries 

When  is fused with KOH in the presence of air, the product formed

is :

A. purple colour 

B. green colour 

C. colourless 

D. purple colour 

Answer: B

Watch Video Solution

MnO2 MnO2

Mn3O4 5300

Cl2

MnO2

MnO2

KMnO4

K2MnO4

MnO4

K2MnO4

https://dl.doubtnut.com/l/_hfP8HRDdcNbS


6.  is the most important oxide of manganese.  occurs

naturally as the black coloured mineral pyrolusite. It is an oxidising agent,

and decomposes to  on heating to  C. It is used in the

preparation of potassium permanaga-nate and in the production of 

gas. Over half a million tonnes per year of  is used in dry batteries 

 dissolve in concentrated HCl to form :

A.  ion and 

B.  ion and 

C. 

D. only 

Answer: B

Watch Video Solution

MnO2 MnO2

Mn3O4 5300

Cl2

MnO2

MnO2

Mn4 + Cl2

Mn2 + Cl2

[MnCl2] − 2 and Cl2

[MnCl4] − 2

7. Iron (+II) is one of the most important oxidation states, and salts are

called ferrous salts. Most of the Fe (+II) salts are pale green and contain

https://dl.doubtnut.com/l/_XpviLNDmGYE2
https://dl.doubtnut.com/l/_a5nRGUSLipo5


 ion. Fe (+II) compounds are easily oxidised by air. and so

are di�cult to obtain pure  form many complexes like 

  

Anhydrous  is made by

A. heating Fe with dilute HCl

B. heating Fe with gaseous HCl

C. Reacting Fe with conc. HCl

D. Heating Fe with  gas

Answer: A

Watch Video Solution

[Fe(H2O)6]
2 +

Fe2 +

K3[Fe(CN)6]

FeCl2

Cl2

8. Iron (+II) is one of the most important oxidation states, and salts are

called ferrous salts. Most of the Fe (+II) salts are pale green and contain

 ion. Fe (+II) compounds are easily oxidised by air. and so

are di�cult to obtain pure  form many complexes like 

[Fe(H2O)6]
2 +

Fe2 +

https://dl.doubtnut.com/l/_a5nRGUSLipo5
https://dl.doubtnut.com/l/_f3MwkdFVozEy


  

Anhydrous  is made by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K3[Fe(CN)6]

FeCl2

K2Fe(Fe(CN)6]

Fe4[Fe(CN)6]
3

Fe[Fe(CN)6]

Fe3[Fe(CN)6]
2

9. Iron (+II) is one of the most important oxidation states, and salts are

called ferrous salts. Most of the Fe (+II) salts are pale green and contain

 ion. Fe (+II) compounds are easily oxidised by air. and so

are di�cult to obtain pure  form many complexes like 

  

Anhydrous  is made by

[Fe(H2O)6]
2 +

Fe2 +

K3[Fe(CN)6]

FeCl2

https://dl.doubtnut.com/l/_f3MwkdFVozEy
https://dl.doubtnut.com/l/_vscxcb2u0LDP


A. I,II,III correct

B. I, III correct

C. II,III correct

D. Only I correct

Answer: A

Watch Video Solution

10.  acts as a good oxidizing agent in acidic medium

  

In alkaline solution, orange colour of  chages to yellow colour

due to formation of  and again yellow colour changes to orange

colour on changing the solution to acidic medium 

  

  

 exist in equilibrium at pH =4 and are interconvertible

by altering the pH of the solution. When heated with  and metal

K2Cr2O7

Cr2O
2 −
7

Orange

+ 14H + + 6e− → 2Cr3 +

Green
+ 7H2O

Cr2O
2 −
7

Cr2O
2 −
4

Cr2O
2 −
7

Orange

+ 2OH _ → Cr2O
2 −
7

Yellow

+ H2O

2CrO
2 −

4
Yellow

+ 2H + → Cr2O
2 −
7 + H2O
Orange

Cr2 −
4 and Cr2O

2 −
7

H2SO4

https://dl.doubtnut.com/l/_vscxcb2u0LDP
https://dl.doubtnut.com/l/_V8RgiVcvKfD9


chloride  gives vapour of chromyl chloride  . Chromyl

chloride  when passed into aqueous NaOH solution, yellow

colour solution of  is obtained. This on reaction with lead acetate

gives yellow ppt.  . When  is added to an acidi�ed solution

of dichromate ion, a complicated reaction occurs. The products obtained

depend on the pH and concentration of dichromate. 

  

A deep blue-violet coloured peroxo compound, ' called

chromic peroxide is formed. This decomposes rapidly in aqueous solution

into  and xygen.  

What happens when a solution of potassium chromate is treated with an

excess of dilute nitric acid?

A.  and  are formed

B.  is reduced to +3 state of Cr

C.  reduced to +3 state of Cr

D.  is reduced to 0 state of Cr

Answer: B

K2Cr2O7 (CrO2Cl2)

(CrO2Cl2)

CrO
2 −
4

PbCrO4 H2O2

Cr2O
2 −
7 + 2H + + 4H2O2 → 2Cr(O2) + 5H2O

CrO(O2)2,

Cr3 +

Cr3 + Cr2O
2 −
7

Cr2O
2 −
7

CrO
2 −
4

CrO
2 −
4

https://dl.doubtnut.com/l/_V8RgiVcvKfD9


Watch Video Solution

11.  acts as a good oxidizing agent in acidic medium

  

In alkaline solution, orange colour of  chages to yellow colour

due to formation of  and again yellow colour changes to orange

colour on changing the solution to acidic medium 

  

  

 exist in equilibrium at pH =4 and are interconvertible

by altering the pH of the solution. When heated with  and metal

chloride  gives vapour of chromyl chloride  . Chromyl

chloride  when passed into aqueous NaOH solution, yellow

colour solution of  is obtained. This on reaction with lead acetate

gives yellow ppt.  . When  is added to an acidi�ed solution

of dichromate ion, a complicated reaction occurs. The products obtained

depend on the pH and concentration of dichromate. 

  

K2Cr2O7

Cr2O
2 −
7

Orange

+ 14H + + 6e− → 2Cr3 +

Green
+ 7H2O

Cr2O
2 −
7

Cr2O
2 −
4

Cr2O
2 −
7

Orange

+ 2OH _ → Cr2O
2 −
7

Yellow

+ H2O

2CrO
2 −

4
Yellow

+ 2H + → Cr2O
2 −
7 + H2O
Orange

Cr2 −
4 and Cr2O

2 −
7

H2SO4

K2Cr2O7 (CrO2Cl2)

(CrO2Cl2)

CrO2 −
4

PbCrO4 H2O2

Cr2O
2 −
7 + 2H + + 4H2O2 → 2Cr(O2) + 5H2O

https://dl.doubtnut.com/l/_V8RgiVcvKfD9
https://dl.doubtnut.com/l/_rh5aj3WWdSMw


A deep blue-violet coloured peroxo compound, ' called

chromic peroxide is formed. This decomposes rapidly in aqueous solution

into  and xygen.  

Which of the following statements is wrong when a mixture of NaCI and

 is gently walmed with conc. ?

A. Deep red vapour is evolved

B. The vapour when passed through NaOH solution gives a yellow

solution of 

C. Chlorine gas is formed

D. Chromyl chloride is formed

Answer: C

Watch Video Solution

CrO(O2)2,

Cr3 +

K2Cr2O2 H2SO4

Na2CrO4

12.  acts as a good oxidizing agent in acidic medium

  

K2Cr2O7

Cr2O
2 −
7

Orange

+ 14H + + 6e− → 2Cr3 +

Green
+ 7H2O

https://dl.doubtnut.com/l/_rh5aj3WWdSMw
https://dl.doubtnut.com/l/_nC687mnyDE6q


In alkaline solution, orange colour of  chages to yellow colour

due to formation of  and again yellow colour changes to orange

colour on changing the solution to acidic medium 

  

  

 exist in equilibrium at pH =4 and are interconvertible

by altering the pH of the solution. When heated with  and metal

chloride  gives vapour of chromyl chloride  . Chromyl

chloride  when passed into aqueous NaOH solution, yellow

colour solution of  is obtained. This on reaction with lead acetate

gives yellow ppt.  . When  is added to an acidi�ed solution

of dichromate ion, a complicated reaction occurs. The products obtained

depend on the pH and concentration of dichromate. 

  

A deep blue-violet coloured peroxo compound, ' called

chromic peroxide is formed. This decomposes rapidly in aqueous solution

into  and xygen.  

 on reaction with HCl and the product on reaction with NaOH(aq)

give respectively

Cr2O
2 −
7

Cr2O
2 −
4

Cr2O
2 −
7

Orange

+ 2OH _ → Cr2O
2 −
7

Yellow

+ H2O

2CrO
2 −

4
Yellow

+ 2H + → Cr2O
2 −
7 + H2O
Orange

Cr2 −
4 and Cr2O

2 −
7

H2SO4

K2Cr2O7 (CrO2Cl2)

(CrO2Cl2)

CrO2 −
4

PbCrO4 H2O2

Cr2O
2 −
7 + 2H + + 4H2O2 → 2Cr(O2) + 5H2O

CrO(O2)2,

Cr3 +

CrO3

https://dl.doubtnut.com/l/_nC687mnyDE6q


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CrO2Cl, CrO
2 −
4

Cr(OH)2, CrO2 −
4

Cl2, Cr2O
2 −
7

Cl2. Cr(OH)3

13. Transition metal and their compounds are used as catalysts in

industry and in biological system. For example, in the Contact Process,

vanadium compounds in the + 5 state  are used to

oxidise   

It is thought that the actual oxidation process takes place in two stages.

In the �rst step,  in the presence of oxide ions converts 

' At the same time,  is reduced to  

  

In the second step  is regenerated from  by oxygen : 

(V2O5 or VO−
3 )

SO2  to SO3 : SO2 + O2
v2o5

−−→ SO3
1

2

V 5 + SO2to SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

https://dl.doubtnut.com/l/_nC687mnyDE6q
https://dl.doubtnut.com/l/_WkdnL0hwC5Qa


  

The overall process is, of course, the sum of these two step :

 

Catalytic activity of transition metals depends on

A. they have completely �lled s-subshell

B. they have a comparable size due to poor shielding of d-subshell

C. they introduce an entirely new reaction mechanism with a lower

activation energy

D. they have variable oxidation states di�er by two units

Answer: C

Watch Video Solution

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3
1

2

14. Transition metal and their compounds are used as catalysts in

industry and in biological system. For example, in the Contact Process,

vanadium compounds in the + 5 state  are used to

oxidise   

(V2O5 or VO−
3 )

SO2  to SO3 : SO2 + O2
v2o5

−−→ SO3
1

2

https://dl.doubtnut.com/l/_WkdnL0hwC5Qa
https://dl.doubtnut.com/l/_qgIPnCgpfAhU


It is thought that the actual oxidation process takes place in two stages.

In the �rst step,  in the presence of oxide ions converts 

' At the same time,  is reduced to  

  

In the second step  is regenerated from  by oxygen : 

  

The overall process is, of course, the sum of these two step :

 

Catalytic activity of transition metals depends on

A. catalyst undergoes changes in oxidation state

B. catalyst increases the rate constant

C. catalyst is regenerated in its original form when the reactants form

the products

D. all are correct

Answer: D

Watch Video Solution

V 5 + SO2to SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3
1

2

https://dl.doubtnut.com/l/_qgIPnCgpfAhU


15. Transition metal and their compounds are used as catalysts in

industry and in biological system. For example, in the Contact Process,

vanadium compounds in the + 5 state  are used to

oxidise   

It is thought that the actual oxidation process takes place in two stages.

In the �rst step,  in the presence of oxide ions converts 

' At the same time,  is reduced to  

  

In the second step  is regenerated from  by oxygen : 

  

The overall process is, of course, the sum of these two step :

 

Catalytic activity of transition metals depends on

A. their ability to exist in di�erent oxidation states

B. the size of the metal atoms

C. the number of empty atomic orbitals available

D. none of these

(V2O5 or VO−
3 )

SO2  to SO3 : SO2 + O2
v2o5

−−→ SO3
1

2

V 5 + SO2to SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3
1

2

https://dl.doubtnut.com/l/_Nmi1mK8kL0Y1


Answer: A

Watch Video Solution

16. Transition metal and their compounds are used as catalysts in

industry and in biological system. For example, in the Contact Process,

vanadium compounds in the + 5 state  are used to

oxidise   

It is thought that the actual oxidation process takes place in two stages.

In the �rst step,  in the presence of oxide ions converts 

' At the same time,  is reduced to  

  

In the second step  is regenerated from  by oxygen : 

  

The overall process is, of course, the sum of these two step :

 

Which of the following ion involved in the above process will show

paramagnetism?

(V2O5 or VO−
3 )

SO2  to SO3 : SO2 + O2
v2o5

−−→ SO3
1

2

V 5 + SO2to SO3

V 5 + V 4 +

2V 5 + + O2 − + SO2 → 2V 4 + + SO3

V 5 + V 4 +

2V 4 + + O2 → 2V 5 + + O2 −1

2

SO2 + O2 → SO3
1

2

https://dl.doubtnut.com/l/_Nmi1mK8kL0Y1
https://dl.doubtnut.com/l/_4nVJonErMZBS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

V 5 +

V 4 +

O2 −

VO−
3

17. Since all lanthanides and actinides belong to group IIIB or 3rd group

they have common oxidation state of +3 as the most stable state. In

addition to +3, they also show +2 and +4 states also. M+2 states they are

good reducing agents. Actinides show higher oxidation states of +5, +6

and +7. For them +3 state is not the most stable state especially for the

�fst four elements 

Based upon the information above answer the following questions 

Lanthanides which show powerful reducing action in +2 state

A. La, Od, HO

https://dl.doubtnut.com/l/_4nVJonErMZBS
https://dl.doubtnut.com/l/_Cg8dq26QuCsm


B. Er,Lu,Eu

C. Th,Yb,Ce

D. Nd,Sm,Tb

Answer: A

Watch Video Solution

18. Since all lanthanides and actinides belong to group IIIB or 3rd group

they have common oxidation state of +3 as the most stable state. In

addition to +3, they also show +2 and +4 states also. M+2 states they are

good reducing agents. Actinides show higher oxidation states of +5, +6

and +7. For them +3 state is not the most stable state especially for the

�fst four elements 

Based upon the information above answer the following questions 

Lanthanides which show powerful reducing action in +2 state

A. Ce,Tb and Eu

B. Eu,Yb,Pm

https://dl.doubtnut.com/l/_Cg8dq26QuCsm
https://dl.doubtnut.com/l/_urSixqgfi5ks


C. Ce,Tb and Pm

D. Eu,Yb and Tb

Answer: B

Watch Video Solution

19. Since all lanthanides and actinides belong to group IIIB or 3rd group

they have common oxidation state of +3 as the most stable state. In

addition to +3, they also show +2 and +4 states also. M+2 states they are

good reducing agents. Actinides show higher oxidation states of +5, +6

and +7. For them +3 state is not the most stable state especially for the

�fst four elements 

Based upon the information above answer the following questions 

Actinides which show higher uxidastion state +5, +6 and +7 states and

respectively are

A. Th,Pa and Am

B. Am,Cm and U

https://dl.doubtnut.com/l/_urSixqgfi5ks
https://dl.doubtnut.com/l/_PM3We1SkfrPM


Level Ii Lecture Sheet Exercise Iii Match Of Following Questions

C. Pa,U and Ac

D. Pa,U and Np

Answer: D

Watch Video Solution

1. Match the following questions 

View Text Solution

https://dl.doubtnut.com/l/_PM3We1SkfrPM
https://dl.doubtnut.com/l/_oiRqsaUlyBvv


2. Match the following questions 

Watch Video Solution

3. Match the following questions 

Watch Video Solution

4. Match the following questions 

Watch Video Solution

https://dl.doubtnut.com/l/_SFRYDtn5xY2U
https://dl.doubtnut.com/l/_ATfIInoYL1rw
https://dl.doubtnut.com/l/_gni8SF6r8ZtF


Watch Video Solution

5. Match the following questions 

Watch Video Solution

6. Match the following questions 

Watch Video Solution

https://dl.doubtnut.com/l/_gni8SF6r8ZtF
https://dl.doubtnut.com/l/_9KOzbVCNXELO
https://dl.doubtnut.com/l/_4NO7y9i1W5mu


7. Match the following questions 

Watch Video Solution

8. Match the following questions 

Watch Video Solution

https://dl.doubtnut.com/l/_GDcmMS2LrHmS
https://dl.doubtnut.com/l/_h3LgU9P7SjKD


Level Ii Lecture Sheet Exercise Iv Integer Answer Type Questions

9. Match the following questions 

Watch Video Solution

1. A metal ion from the �rst transition has a magnetic moment of 3.87

B.M. How many unpaired electrons are expected to be present in the ion

Watch Video Solution

2. The brown ring complex is formulated as  The

Oxidation state of Fe is X what is the value of X?

W t h Vid S l ti

[Fe(H2O)5NO+ ]SO4

https://dl.doubtnut.com/l/_F0kw83Cl6sHk
https://dl.doubtnut.com/l/_FSbXrcPAcFea
https://dl.doubtnut.com/l/_1Mvv1UrjmTcT


Watch Video Solution

3. How many moles of  are required to oxidise 10 moles of

ferrous oxalate in acidic medium

Watch Video Solution

KMnO4

4. When potassium dichromate is heated to a white heat, it decomposes

to give pottassium chromate, chromic oxide and oxygen gas. The number

of moles of oxygen gas liberated in the decomposi- tion process are

Watch Video Solution

5. How many electrons are involved in reduction of  in basic

reduction?

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_1Mvv1UrjmTcT
https://dl.doubtnut.com/l/_QjKxVUgCrzzm
https://dl.doubtnut.com/l/_AbM2K4yOwN1A
https://dl.doubtnut.com/l/_jbJsBY4tOQWW


6. How many unpaired electrons are present in the central metal ion

Watch Video Solution

[CoCl4]2 −

7. Number of dative bonds around  ion in chlorophyll is

Watch Video Solution

Mg2 +

8. Maximum number of oxygen molecules bond around a heamoglobin is

(are)

Watch Video Solution

9. Number of Cr-O sigma bonds in dichromate in  is

Watch Video Solution

Cr2O
2 −
7

https://dl.doubtnut.com/l/_XJmpApiLLZvb
https://dl.doubtnut.com/l/_GvfyCwVxYQuK
https://dl.doubtnut.com/l/_95JkpZx7sB2G
https://dl.doubtnut.com/l/_x14WpNUQLBWe
https://dl.doubtnut.com/l/_7QbjVqmKirES


Practice Sheet 1 Single Or More Than One Option Questions

10. Permanganate ion oxidises manganous ion to manganese dioxide in

presence of zinc oxide as catatalyst as

. The number of  ion

added to the product side in the balanced ionic equation is

Watch Video Solution

MnO
−
4 + Mn2 + + H2O → MnO2 + H + H +

1. Metals which do not form amalgam

A. Fe

B. Zn

C. Ni

D. Au

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7QbjVqmKirES
https://dl.doubtnut.com/l/_k9l4eSBJdbCm


2. Oxide of metal cation which is not amphoteric ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al+ 3

Cr+ 3

Fe+ 3

Zn+ 2 '

3. The metal that has the highest melting point and used in making hand

steel is

A. Cu

B. Mn

C. Zn

https://dl.doubtnut.com/l/_k9l4eSBJdbCm
https://dl.doubtnut.com/l/_NvFxtJgDbUSK
https://dl.doubtnut.com/l/_0pYR3yWnlpkP


D. W

Answer: D

Watch Video Solution

4. Ionisation energies of Ni and Pt in Kj/mol are given below 

  

So the correct statment is

A. Ni(Il) compounds tend to be thermodynamically more stable than

Pt(II)

B. Pt(lV) compounds tend to be more stable than Ni(lV

C. a & b both

D. None of these

Answer: C

Watch Video Solution

IE1 + IF2 IE3 + IE4

Ni 2.49 8.80

Pt 2.60 6.70

https://dl.doubtnut.com/l/_0pYR3yWnlpkP
https://dl.doubtnut.com/l/_ztg3z08qBlPU


5.  are pale yellow strong yellow and

intense purpce respectively in aqueous solution. The darkening colour is

due to

A. Charge transfer

B. d-d transition

C. Half �lled d-dub shells

D. Half �lled d-dub shells

Answer: A

Watch Video Solution

VO
−
4 , CrO− 2

4  and MnO
− 2
4

6. The ratio of magnetic moments of Fe(III) & Co(ll) is

A. 

B. 

√5: √7

√35: √15

https://dl.doubtnut.com/l/_ztg3z08qBlPU
https://dl.doubtnut.com/l/_goIIRyCpDtDG
https://dl.doubtnut.com/l/_3ivq2IE7DwrW


C. 

D. 

Answer: B

Watch Video Solution

7: 3

√24: √15

7. A transition metal exists in its highest oxidation state. It is expected to

behave as

A. A chelating agent

B. A central metal in a coordination compound

C. An oxidising agent

D. A reducing agent

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3ivq2IE7DwrW
https://dl.doubtnut.com/l/_0Kh9l9SoSbnz
https://dl.doubtnut.com/l/_Elase3aE9mDK


8. AgF, AgCl, NaCl, NaBr, Nal are colourless but AgBr and AgI are coloured

because

A.  polarizes Br- and  and not able to polirize  and P-

B. AgBr has unpaired electron

C. AgBr has defects

D. All of these

Answer: A

Watch Video Solution

Ag+ I − Cl−

9. Which is not an interstitial compound

A. Tin

B. 

C. 

D. 

Fe2O3

Mn2C3

W2C

https://dl.doubtnut.com/l/_Elase3aE9mDK
https://dl.doubtnut.com/l/_OMTsYW1gyqw0


Answer: B

Watch Video Solution

10. Which of the following oxides of chromium is amphoteric in nature

A. CrO

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cr2O3

CrO3

CrO3

11. Correct order of MP in transition element is

A. W > Mo > Cr

https://dl.doubtnut.com/l/_OMTsYW1gyqw0
https://dl.doubtnut.com/l/_r3sei6esb8bV
https://dl.doubtnut.com/l/_neDvZ8u9OZyn


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

Cr > Fe > Mn

Cu > Au > Ag

V > Cr > Ti

12.  ion is not stable in aqueous solution because of

diproportionation reaction .  value for the disproportionation of 

is : 

A.  is more stable than 

B.  can form interstitial compounds in aqueous solution

C. The equilibrium constant for  is very high

D. The equilibrium constant for  is very low

Cu+

E ∘ Cu+

(E ∘
cu2 + / cu+ = + 0.15V , E ∘

cu+ / cu = + 0.34V )

Cu+ 2
( aq ) Cu+

( aq )

Cur+ 2
( aq )

Cu+
( aq ) ⇔ Cu+ 2

( aq ) + Cu

Cu+ 2
( aq ) ⇔ Cu+ 2

( aq ) = Cu

https://dl.doubtnut.com/l/_neDvZ8u9OZyn
https://dl.doubtnut.com/l/_kE0KM0YB3iiD


Answer: A::C::D

Watch Video Solution

13. Which of the following statements are correct about Zn, Cd & Hg ?

A. They exhibit high enthalpies of atomization as the d-subshell is full

B. Zn, Cd do not show variable valeney while Hg shows +1 and +2

oxidation states

C. Compounds of Zn, Cd and Hg are paramagnetic in nature

D. Zn, Cd and Hg are called soft metals

Answer: B::D

Watch Video Solution

14. The unstable compounds are

https://dl.doubtnut.com/l/_kE0KM0YB3iiD
https://dl.doubtnut.com/l/_sof9QeNRL5Da
https://dl.doubtnut.com/l/_rl32R3DN9ixP


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

MnI7

CrO3

Mn2O7

CrI6

15. Which of these are liquids at room temperature

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

TiCl4

Zn

Hg

CuCl2

https://dl.doubtnut.com/l/_rl32R3DN9ixP
https://dl.doubtnut.com/l/_9sHX8xgWiPZB


Practice Sheet 1 Linked Comprehension Type Questions

16. The diamagnetic compunds are

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

HgCl2

Hg2Cl2

Cu2Cl2

K2Cr2O7

1. The elements of the tree transition series of the d-block re given below 

  

In any transition series as we move from left to right , the d-orbitals ar

Si T i V Cr Mn Fe Co Ni Cu Zn

Y Zr Nb Mo Te Ru Rh Pd Ag Cd

La Hg Ta W Re Os Ir Pt Au Hg

https://dl.doubtnut.com/l/_9sHX8xgWiPZB
https://dl.doubtnut.com/l/_0XUFS0ZZnGKJ
https://dl.doubtnut.com/l/_wc4O9JFyppFF


progressively �lled and their properties vary accordigly 

Which element do you expect to have the smallest atomic radius

A. Sc

B. Zn

C. La

D. Hg

Answer: B

Watch Video Solution

2. The elements of the tree transition series of the d-block re given below 

  

In any transition series as we move from left to right , the d-orbitals ar

progressively �lled and their properties vary accordigly 

Which element have highest melting point ?

Si T i V Cr Mn Fe Co Ni Cu Zn

Y Zr Nb Mo Te Ru Rh Pd Ag Cd

La Hg Ta W Re Os Ir Pt Au Hg

https://dl.doubtnut.com/l/_wc4O9JFyppFF
https://dl.doubtnut.com/l/_nCiKKwMPs0WJ


A. La

B. W

C. Os

D. Pt

Answer: B

Watch Video Solution

3. The elements of the tree transition series of the d-block re given below 

  

In any transition series as we move from left to right , the d-orbitals ar

progressively �lled and their properties vary accordigly 

Which of the following is the correct order of second ionisation energy

A. 

B. 

Si T i V Cr Mn Fe Co Ni Cu Zn

Y Zr Nb Mo Te Ru Rh Pd Ag Cd

La Hg Ta W Re Os Ir Pt Au Hg

V > Cr > Mn

V < Cr < Mn

https://dl.doubtnut.com/l/_nCiKKwMPs0WJ
https://dl.doubtnut.com/l/_YEOa2D3kb9Ph


C. 

D. 

Answer: C

Watch Video Solution

V < Cr > Mn

V > cr < Mn

4.   

The most unreactive metal is

A. Zn

B. Fe

C. Ni

D. Pt

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_YEOa2D3kb9Ph
https://dl.doubtnut.com/l/_QnGF7u1wbT2L


Watch Video Solution

5.   

The element that does not displace hydrogen from dilute acids is

A. Zn

B. Mn

C. Cu

D. Fe

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QnGF7u1wbT2L
https://dl.doubtnut.com/l/_VrarJ8gTltRm


Practice Sheet 1 Match The Following Questions

6.   

The metal that doesnot displace Cu from the  solution

A. Zn

B. Fe

C. Mg

D. Ag

Answer: D

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_ZAi5rlsi02U0


Practice Sheet 1 Integer Answer Type Questions

1. Match of the following questions 

Watch Video Solution

2. Match of the following questions 

Watch Video Solution

3. The sum of ns and (n-l)d electrons in Tc are

Watch Video Solution

https://dl.doubtnut.com/l/_txzTf3xFv1ir
https://dl.doubtnut.com/l/_FLQMW6Ss4A9Y
https://dl.doubtnut.com/l/_Q040qKxZo8Co


1. The oxidation state of 

Watch Video Solution

CrO3

2. The number of transition metals in the alloy Alnico is

Watch Video Solution

3. How many of the following the second element has higher density than

the �rst one? 

1) Ag, Au 2) Hf, Zr, 3) Zn, Hg 4) Na, Cu 5) Ca, Co 6) Ta, Nb

Watch Video Solution

4. The oxidation number of the metal in Zeisel's salt is

Watch Video Solution

https://dl.doubtnut.com/l/_lpZDLm7vwEJY
https://dl.doubtnut.com/l/_nLQNryfqKfAU
https://dl.doubtnut.com/l/_wYY0a04dfrnh
https://dl.doubtnut.com/l/_4s5oXkSnhCoK


Practice Sheet 2 Single Or More Than One Option Questions

5. The number of unpaired in the central metal ion of brown ring complex

is

Watch Video Solution

1. Which the following statements is wrong ?

A. An acidi�ed solution of  liberates iodine from iodides

B. In acidic solution dichromate ions are converted to chromate ions

C. Ammonium dichromate on heating undergoes exothermic

decomposition to give 

D. Potassium dichromate is used as titrant for  ions

Answer: B

Watch Video Solution

K2Cr2O7

Cr2O3

Fe+ 2

https://dl.doubtnut.com/l/_tZfHfEkLOBET
https://dl.doubtnut.com/l/_VUMwlm69BIDe


2. In the dichromate dianion

A. 4 Cr - O bonds are equivalent

B. 6 Cr - O bonds are equivalent

C. All Cr - O bonds are equivalent

D. All Cr - O bonds are non-equivalent

Answer: B

Watch Video Solution

3. When conc.  is added to s~lution of potasium dichromate

A. A yellow solid of chromate sepearates out

B. A yellow solid of Cr (VI) oxide sepearates out

C. A purple red solid of chromate separates out

D. A purple red solid of Cr (VI) oxides seperates out

H2SO4

https://dl.doubtnut.com/l/_VUMwlm69BIDe
https://dl.doubtnut.com/l/_MJNqzcdWr9fF
https://dl.doubtnut.com/l/_5ke5hx4Xh6ry


Answer: D

Watch Video Solution

4. Which one of following does not decolounse an acidi�ed 

solution ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

SO2

FeCl3

H2O2

FeSO4

5.  is iso stuctural withKMnO4

https://dl.doubtnut.com/l/_5ke5hx4Xh6ry
https://dl.doubtnut.com/l/_5l1XcxYEW5NR
https://dl.doubtnut.com/l/_FHE1VvfyiJAu


A. 

B. 

C. 

D. None

Answer: A::B

Watch Video Solution

KClO4

HClO4

K3BO3

6. When conc.  reacts with  an explosive compunds is

obtained which is

A. 

B. 

C. 

D. None

Answer: B

H2SO4 KMnO4

MnO2

Mn2O7

MnO
− 2
4

https://dl.doubtnut.com/l/_FHE1VvfyiJAu
https://dl.doubtnut.com/l/_PYfD4T3NzjLg


Watch Video Solution

7. When  is kept in strongly acidic solution the products

obtained are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2MnO4

NaMnO4, MnO2, H2O

Na2MnO4, H2O

NaMnO4, Mn, H2O

Na2MnO4, Mn, H2O

8. Addition of  solution to  solution give

A. Ferro-Ferricyanide

B. Ferric-Ferrocyanide

K4[Fe(CN)6] FeCl3

https://dl.doubtnut.com/l/_PYfD4T3NzjLg
https://dl.doubtnut.com/l/_YTocFoSQfuxP
https://dl.doubtnut.com/l/_IIFlBC6NQy5k


C. Ferric-Ferricyanide

D. None

Answer: B

Watch Video Solution

9. The brown ring complex compound is formulated as

 The oxidation states of iron is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Fe(H2O)5NO]SO − 4

+1

+2

+3

+4

https://dl.doubtnut.com/l/_IIFlBC6NQy5k
https://dl.doubtnut.com/l/_DdaYh9wmP7To
https://dl.doubtnut.com/l/_McipxqYbpBAt


10. Ferrous sulphate on heating gives

A. 

B. 

C. 

D. All

Answer: D

Watch Video Solution

SO3

SO2

Fe2O3

11. The unstable compounds are

A. 

B. 

C. 

D. 

MnI7

CrO3

Mn2O7

CrI6

https://dl.doubtnut.com/l/_McipxqYbpBAt
https://dl.doubtnut.com/l/_YOUUlMtfWRdA


Answer: A::D

Watch Video Solution

12. An explosion takes place when conc.  is added to 

Which of the following is formed

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4 KMnO4

Mn2O7

MnO7

MnSO4

Mn2O3

13. Pick out the correct statements

https://dl.doubtnut.com/l/_YOUUlMtfWRdA
https://dl.doubtnut.com/l/_pPIwXd62Nkn1
https://dl.doubtnut.com/l/_NAmSFs2chHtc


A.  dissolves in conc.HCl but does not form  ions

B. Decomposition of acidic  is not catalysed by sunlight

C.  is strongly oxidising and stable only in very stron alkali. In

dilute alkali water or acidic solutions it disproportionetes

D.  does not act as oxidizing agent in alkali medium

Answer: A::C

View Text Solution

MnO2 Mn+

KMnO4

MnO
− 2
4

KMnO4

14. Choose correct statements regarding the following reaction 

A.  is oxidising agent

B.  is reducing agent

C. The oxidation number of per S-atom in  is increased by two

D. The oxidation number of per Cr-atom is decreased by three

Cr2O
− 2
7 ( aq ) + 3SO− 2

3 ( aq ) + 8H + → 2Cr+ 3
( aq ) + 3SO− 2

4 ( aq ) + 4H2O

Cr2O
− 2
7

SO− 2
3

3SO− 2
3

https://dl.doubtnut.com/l/_NAmSFs2chHtc
https://dl.doubtnut.com/l/_T7HNzfRA4SHW


Answer: A::B::C::D

Watch Video Solution

15. Transition elements act as good catalysts because

A. Presence of partially �lled d-orbitals

B. Forms H-bonding easily

C. Transition elements show variable oxidation state

D. Easy inter convertibility of oxidation states due to low oxidation

aI~d reduction potential

Answer: A::C::D

Watch Video Solution

16. In which of the following compound(s), the colour is due to the charge

transfer spectra

https://dl.doubtnut.com/l/_T7HNzfRA4SHW
https://dl.doubtnut.com/l/_6EESpCByOZvs
https://dl.doubtnut.com/l/_kaPUWG1kBqji


Practice Sheet 2 Linked Comprehension Type Questions

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

KMnO4

CrO3

CuCl2

Cu2O

1. A hydrated metallic salt(A), light green in colour on earful heating gives

a white anhydrous residue(B). (B) is soluble in water and its aqueous

solution reacts with No to give a dark brown compound (C). (B) gives a

brown residue (D) and a mixture oftwo gases (E) and (F). The gaseous

mixture when passed through an acidi�ed  solution dischanges

the pink colour and when passed through acidi�ed  solution gave

KMnO4

BaCl2

https://dl.doubtnut.com/l/_kaPUWG1kBqji
https://dl.doubtnut.com/l/_GKrjwQw7mZ7o


a white precipitate. 

A may be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

FeSO4.7H2O

ZnSO4. 7H2O

CuSO4.5H2O

FeCl3. H2O

2. A hydrated metallic salt(A), light green in colour on earful heating gives

a white anhydrous residue(B). (B) is soluble in water and its aqueous

solution reacts with No to give a dark brown compound (C). (B) gives a

brown residue (D) and a mixture oftwo gases (E) and (F). The gaseous

mixture when passed through an acidi�ed  solution dischanges

the pink colour and when passed through acidi�ed  solution gave

KMnO4

BaCl2

https://dl.doubtnut.com/l/_GKrjwQw7mZ7o
https://dl.doubtnut.com/l/_D7Nb95ekCcQT


a white precipitate. 

C may be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

FeSO4. NO

Fe(NO)2SO4

Fe(NO)2

Fe2(NO)SO4

3. A hydrated metallic salt(A), light green in colour on earful heating gives

a white anhydrous residue(B). (B) is soluble in water and its aqueous

solution reacts with No to give a dark brown compound (C). (B) gives a

brown residue (D) and a mixture oftwo gases (E) and (F). The gaseous

mixture when passed through an acidi�ed  solution dischanges

the pink colour and when passed through acidi�ed  solution gave

KMnO4

BaCl2

https://dl.doubtnut.com/l/_D7Nb95ekCcQT
https://dl.doubtnut.com/l/_kbzIWQ3kDCBV


a white precipitate. 

C may be

A. 

B. 

C. 

D. None to these

Answer: C

Watch Video Solution

FeO

Fe3O4

Fe2O3

4. Iron (+II) is one of the most important oxidation states, and salts are

called ferrous salts. Most of the Fe (+II) salts are pale green and contain

 ion. Fe (+II) compounds are easily oxidised by air. and so

are di�cult to obtain pure  form many complexes like 

  

Anhydrous  is made by

[Fe(H2O)6]
2 +

Fe2 +

K3[Fe(CN)6]

FeCl2

https://dl.doubtnut.com/l/_kbzIWQ3kDCBV
https://dl.doubtnut.com/l/_8h2v6iDBb1Qk


A. Heating Fe with dilute HCl

B. Heating Fe with gaseous HCl

C. Reacting Fe with conc.HCl

D. Heating Fe with  gas

Answer: B

Watch Video Solution

Cl2

5.  is used in the detection of  ion with which is gives

a deep blue colour. This colour is due to the formation of

A. 

B. 

C. 

D. 

Answer: D

K3[Fe(CN)6] Fe2 +

K2Fe(Fe(CN)6]

Fe4[Fe(CN)6]
3

Fe[Fe(CN)6]

Fe3[Fe(CN)6]
2

https://dl.doubtnut.com/l/_8h2v6iDBb1Qk
https://dl.doubtnut.com/l/_Cy2AjEii8Vx6


Watch Video Solution

6.  is used in brown ring test for nitrates and nitrites. In this test a

freshly prepared  solution is mixed with eolution containing

 and the conc.  is run down the side of the tube. If

the mixture gets hot is shaken 

I) The brown colour disappear 

II) No is evolved 

III) A yellow solution of  is formed

A. I,II,III correct

B. I,III correct

C. II,III correct

D. Only I correct

Answer: A

Watch Video Solution

FeSO4

FeSO4

NO−
2 or NO−

3 H2SO4

Fe2(SO4)3

https://dl.doubtnut.com/l/_Cy2AjEii8Vx6
https://dl.doubtnut.com/l/_nnuOIBzwqtPs


Practice Sheet 2 Match The Following Questions

Practice Sheet 2 Integer Answer Type Questions

1. Match the following questions 

Watch Video Solution

2. Match the following questions 

Watch Video Solution

https://dl.doubtnut.com/l/_SI4tgoW1DWPX
https://dl.doubtnut.com/l/_CrAtgxEYP1jO


1. The no.of chloride ions co-ordinated to  ion is hydrated 

Watch Video Solution

Fe+ 3

FeCl3. 6H2O

2. The oxidation state of Cr is 

Watch Video Solution

K3CrO8

3. In alkaline medium  can be converted into . The decreas

in oxidation sate in n so equivalent mass of 

what is n ?

Watch Video Solution

KMnO4 MnO3

KMnO4 = ,
Molar mass

n

4. How many of the following cannot displace  from dil. HCl ?  

Cu,Zn,Ni,Fe,Ag,Au,Pt,Hg,Cd

H2

https://dl.doubtnut.com/l/_McL9P71rDG8C
https://dl.doubtnut.com/l/_3O9PSdwjAPqB
https://dl.doubtnut.com/l/_fx68jhUfvYiI
https://dl.doubtnut.com/l/_4KYRev508boH


Practice Sheet 3 Single Or More Than Ons Option Questions

Watch Video Solution

5. How many of the following are correct about the stability of oxidation

states of Mn 

i) (acidic solution)  

(ii)  (alkalikne solution)  

(iii)  (acidic solution)  

(iv)  (strong alkaline solution)

Watch Video Solution

Mn(II) > Mn(V II)

Mn(II) < Mn(IV )

Mn(V I) > Mn(IV )

Mn(V I) > Mn(V III)

6. The co-ordination numbre of the metal in sodium nitro prusside is

Watch Video Solution

https://dl.doubtnut.com/l/_4KYRev508boH
https://dl.doubtnut.com/l/_jWWR2aLyudUB
https://dl.doubtnut.com/l/_k19gDCCC5NBu


1. From sodium argento cyanide Nal A CN, silver is proe pitated by adding

a powder of

A. Tin

B. Zinc

C. Mercury

D. Calcium

Answer: B

Watch Video Solution

2. Which of the following ions is coloured?

A. 

B. 

C. 

D. 

Cu+

Cu+ 2

Ti+ 2

V + 3

https://dl.doubtnut.com/l/_UbuchLfyXeyj
https://dl.doubtnut.com/l/_1vjvo9hLhSwf


Answer: B

Watch Video Solution

3. The reactivity of copper is low because of its

A. High enthalphy of sublimation and low ionization energy

B. High enthalphy of sublimation and high ionization energy

C. Low enthalphy of sublimation and high ionization energy

D. Low enthalphy of sublimation and low ionization energy

Answer: B

Watch Video Solution

4. When  is added to  solution, there is formation of 

 as wel as . Formation of  is due to

K2CrO4 CuSO4

CuCrO4 CuCr2O7 CuCr2O7

https://dl.doubtnut.com/l/_1vjvo9hLhSwf
https://dl.doubtnut.com/l/_unGBlvNzUQTO
https://dl.doubtnut.com/l/_nGOPngOzY26b


A. Basic nature of  solution

B. Acidic nature of  solution

C.  oxidizes  to 

D. This is the typical property of 

Answer: B

Watch Video Solution

CuSO4

CuSO4

CuSO4 CrO
− 2
4 Cr2O

− 2
7

CuSO4

5. Gold dissolves in aquaregia forming

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Au(NO3)2

AuCl3

H[AuCl4]

AuNO3

https://dl.doubtnut.com/l/_nGOPngOzY26b
https://dl.doubtnut.com/l/_rqLj4gf2SUFE


6. Which one is least sooluble is water ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ag2S

AgCl

AgI

AgBr

7. The least stable oxide at room temperature is

A. CuO

B. 

C. Zno

Sb2O3

https://dl.doubtnut.com/l/_rqLj4gf2SUFE
https://dl.doubtnut.com/l/_kJ4pu4NXaqv1
https://dl.doubtnut.com/l/_PtjwBIdOgnI6


D. 

Answer: D

Watch Video Solution

Ag2O

8. Which compund is deliquescent ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Hg2Cl2

HgCl2

ZnCl2

CdCl2

9.  is reduced to  byHgCl2 Hg2Cl2

https://dl.doubtnut.com/l/_PtjwBIdOgnI6
https://dl.doubtnut.com/l/_mPbPrJayOtoU
https://dl.doubtnut.com/l/_86LBMhA7zr0N


A. 

B. 

C. HCOOH

D. 

Answer: C

Watch Video Solution

CH4COOH

CCl4

NH3

10. The metal presen in insulin is

A. Cu

B. Fe

C. Zn

D. Mg

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_86LBMhA7zr0N
https://dl.doubtnut.com/l/_iOCxFBrgqv8H


11. The metal oxide (s) which decompose on heating is (are)

A. ZnO

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

Al2O3

Ag2O

HgO

12. The aqueous solution of the following salt will be coloured in the case

of :

A. 

B. 

C. 

Zn(NO3)2

LiNO3

Co(NO3)2

https://dl.doubtnut.com/l/_iOCxFBrgqv8H
https://dl.doubtnut.com/l/_yTSCG3slGCbM
https://dl.doubtnut.com/l/_pj59gypr6U7j


D. 

Answer: C::D

Watch Video Solution

CrCl3

13. Iodine is liberated on adding potassium iodide solution to solution(s)

of

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

ZnCl2

FeCl3

CuSO4

AlCl3

https://dl.doubtnut.com/l/_pj59gypr6U7j
https://dl.doubtnut.com/l/_pPOYvuxb0ro9


14. Roasting of copper pyrites is done

A. to remove moisture and volatile impurities

B. to oxidise free sulphur

C. to decompose pyrites into  and FeS

D. None of these

Answer: A::B

Watch Video Solution

Cu2S

15. Which of the following statements are correct ?

A.  dissolves in hot water

B.  give HCl when treated with 

C.  gives yellow precipitate with NaOH

D.  gives white precipitate with 

HgCl2

Hgcl2 H2SO4

HgCl2

HgCl2 NH4OH

https://dl.doubtnut.com/l/_68tvpO6uqQ3x
https://dl.doubtnut.com/l/_GiaDZFTQLc0A


Practice Sheet 3 Linked Comprehension Type Questions

Answer: A::C::D

Watch Video Solution

16. Which of the following are amphoteric oxides?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

CuO

ZnO

Cr2O3

MnO2

https://dl.doubtnut.com/l/_GiaDZFTQLc0A
https://dl.doubtnut.com/l/_TEjHgEzFIR2p


1. When a metal rod M is dipped into an aqueous colourless concentreted

solution ofcompound N, the solution tuns light blue. Addition

ofaqueousn NaCI to the blue solution gives a white precipitate 'O'.

Addition ofaqueous  dissolves 'O' gives an intese blue solution  

The metal rod M is

A. Fe

B. Cu

C. Ni

D. Co

Answer: B

Watch Video Solution

NH3

2. When a metal rod M is dipped into an aqueous colourless concentreted

solution ofcompound N, the solution tuns light blue. Addition

ofaqueousn NaCI to the blue solution gives a white precipitate 'O'.

https://dl.doubtnut.com/l/_wskTQDl35yQ8
https://dl.doubtnut.com/l/_oFtzD8Y3GMOG


Addition ofaqueous  dissolves 'O' gives an intese blue solution  

The compund N is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

AgNO3

Zn(NO3)2

Al(NO3)3

Pd(NO3)2

3. The �nal solution contains

A. 

B. 

C. 

D. 

[Pb(NH3)4]
+ 2

, &[CoCl4] − 2

[Al(NH3)4]
+ 3

&[Cu(NH3)4]
+ 2

[Ag(NH3)2]
+

&[Cu(NH3)4]
+ 2

[Ag(NH3)2]
+

&[Ni(NH3)6]
+ 2

https://dl.doubtnut.com/l/_oFtzD8Y3GMOG
https://dl.doubtnut.com/l/_hbsrOqPrawDw


Answer: C

View Text Solution

4. A colourless inorganic compound(A) is soluble in water, alcohols,

amines. On strong heating (A) gives a brown gas (B) and a grey residue

(C) on dissolution of(A) in  a solution (D) is formed which reduces

aldehydes to form silvermirror.  reduces solution of (A) in water

aqueous solution of(A) also gives a brick red precipitate (E) with 

solution 

A is

A. 

B. 

C. Ag

D. 

Answer: D

h id l i

NH3

FeSO4

K2CrO4

[Ag(NH3)2]
+

Ag2CrO4

AgNO3

https://dl.doubtnut.com/l/_hbsrOqPrawDw
https://dl.doubtnut.com/l/_3QFvZ8H1E5np


Watch Video Solution

5. A colourless inorganic compound(A) is soluble in water, alcohols,

amines. On strong heating (A) gives a brown gas (B) and a grey residue

(C) on dissolution of(A) in  a solution (D) is formed which reduces

aldehydes to form silvermirror.  reduces solution of (A) in water

aqueous solution of(A) also gives a brick red precipitate (E) with 

solution 

C is

A. Ag

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

NH3

FeSO4

K2CrO4

Ag2O

Ag3N

https://dl.doubtnut.com/l/_3QFvZ8H1E5np
https://dl.doubtnut.com/l/_eAyc1whONZ3e
https://dl.doubtnut.com/l/_HfxbOJ4rp6DE


Practice Sheet 3 Match The Following Questions

6. A colourless inorganic compound(A) is soluble in water, alcohols,

amines. On strong heating (A) gives a brown gas (B) and a grey residue

(C) on dissolution of(A) in  a solution (D) is formed which reduces

aldehydes to form silvermirror.  reduces solution of (A) in water

aqueous solution of(A) also gives a brick red precipitate (E) with 

solution 

D is

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

NH3

FeSO4

K2CrO4

AgCrO4

AgNH2

[Ag(NH3)2]
+

https://dl.doubtnut.com/l/_HfxbOJ4rp6DE
https://dl.doubtnut.com/l/_aEKVgNMpoClX


Practice Sheet 3 Interger Answer Type Questions

1. Match the following questions 

Watch Video Solution

2. Match the following questions 

Watch Video Solution

1. How many of the following will give  on heating ?  O2

KMnO4, K2, Cr2O7, ZnO, Na2O, PbO2, Pb3O4, Pb(NO3)2, NH4NO3

https://dl.doubtnut.com/l/_aEKVgNMpoClX
https://dl.doubtnut.com/l/_VXbWh7A3uFRp
https://dl.doubtnut.com/l/_HR8UPxrdpXX6


Watch Video Solution

2. How many of the following correctly matched 

Watch Video Solution

3. The oxidation number of Mn in the product of alkaline oxidative fusion

of  is .....MnO2

https://dl.doubtnut.com/l/_HR8UPxrdpXX6
https://dl.doubtnut.com/l/_igWsSCEVn4Lr
https://dl.doubtnut.com/l/_Zos8o98BHuvV


Practice Sheet 4 Single Or More Than One Options

Watch Video Solution

4. How many of the following are iso structural ?

Watch Video Solution

FeSO4, 7H2O, CuSO − 4.5H2O, MnSO4.4H2O, ZnSO4, 7H2O, MgSO4, 7

5. How many of the following are water soluble ?

Watch Video Solution

Agf, AgCl, AgB, Agl, CaF2, CaCl2, CaBr2, Cal2

6. The number of water molecules directly bonded to the metal centre is

 is

Watch Video Solution

CuSO4.5H2O

https://dl.doubtnut.com/l/_Zos8o98BHuvV
https://dl.doubtnut.com/l/_l6RbPSQBbiEz
https://dl.doubtnut.com/l/_ABC85h682bKS
https://dl.doubtnut.com/l/_5xRX7A4V9HvX


1. Which of the following is called calomal ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Hg2Cl2

Hg(NO3)2

HgCl2

HgSO4

2. The colour of  is

A. Brown

B. Red brown

C. Lighg green

D. white

FeF3

https://dl.doubtnut.com/l/_U9OiH0XCSZgz
https://dl.doubtnut.com/l/_UjaZGjW5HtlJ


Answer: A

Watch Video Solution

3. Number of moles of  reduced by one mole of  ions is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K2Cr2O7 Sn2 +

1

3

3

1

6

6

4.  on raction with HCl and the product on reaction with 

 give respectively

Cr2O23

NaOH(aq)

https://dl.doubtnut.com/l/_UjaZGjW5HtlJ
https://dl.doubtnut.com/l/_ptqnxwK0JRgK
https://dl.doubtnut.com/l/_P7AeGaT760IE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CrO2Cl, CrO
− 2
4

Cr(OH)2, CrO2 −
4

Cl2, Cr2O
− 2
7

Cl2. Cr(OH)3

5. Lithopone is a mixture of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnSO4, BaSO4

ZnS, BaSO4

ZnCO3, BaCO3

ZnS, Na, SO4

https://dl.doubtnut.com/l/_P7AeGaT760IE
https://dl.doubtnut.com/l/_YQQ2eUhoUARc


6.  does not produce metallic sulphide with

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2S

CdCl2

ZnCl2

CoCl2

CuCl2

7. Which compund is deliquescent ?

A. 

B. 

C. 

Hg2Cl2

HgCl2

ZnCl2

https://dl.doubtnut.com/l/_YQQ2eUhoUARc
https://dl.doubtnut.com/l/_jXNeg5UHsHrv
https://dl.doubtnut.com/l/_yEi43T6jtW9B


D. 

Answer: C

Watch Video Solution

CdCl2

8. Which is coloured supecies ?

A. 

B. 

C. 

D. All

Answer: A

Watch Video Solution

MnO
−
4

TeO
−
4

ReO
−
4

9. In the reaction  A is2CuCl2 + 2H2O + SO2 → A + H2SO4 + 2HCl,

https://dl.doubtnut.com/l/_yEi43T6jtW9B
https://dl.doubtnut.com/l/_z9HcnkkUzvJL
https://dl.doubtnut.com/l/_klSDmZ0MTki5


A. 

B. Cu

C. 

D. Cus

Answer: A

Watch Video Solution

CuCl2

CuSO4

10. An aqueous solution of  appears

A. greenish-yellow in colour

B. blue in colour

C. violet in colour

D. Purple in colour

Answer: D

Watch Video Solution

[Ti(H2O)6]
+ 3

https://dl.doubtnut.com/l/_klSDmZ0MTki5
https://dl.doubtnut.com/l/_GyXpTNNRoI2N


11. Acidi�ed  changes to green on reactions with

A. 

B. 

C. Kl and then adding hypo

D. 

Answer: A::B::C::D

Watch Video Solution

K2Cr2O7

SO2

FeSO4

NaCl + conc. H2SO4

12. Two of the constituents of German silver are

A. Ag

B. Fe

C. Zn

https://dl.doubtnut.com/l/_GyXpTNNRoI2N
https://dl.doubtnut.com/l/_nD9Qy9lSUu4z
https://dl.doubtnut.com/l/_Xq1rXO4RUN9h


D. Ni

Answer: C::D

View Text Solution

13. Select the wrong statements

A. Hg from an amalgam with iron

B. Hg vapours are non-poisonous

C. Hg is monovalent in mercurous compounds

D. Oxysalts of mercury are thermally stable

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_Xq1rXO4RUN9h
https://dl.doubtnut.com/l/_3rfQ1bYqbA18


14. Which of the following become passive with when dropped into conc,

 ?

A. Cu

B. Fe

C. Cr

D. Al

Answer: B::C::D

View Text Solution

HNO3

15. Coagulation of blood takes place by

A. Ferric alum

B. Potash alum

C. Chrom alum

D. None of these

https://dl.doubtnut.com/l/_6hFFoJEbxcW8
https://dl.doubtnut.com/l/_He2gw8nmRzNr


Practice Sheet 4 Linked Comprehension Type Questions

Answer: A::B::C

Watch Video Solution

16. Which one of the following reactions cannot occur ?

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

Cu + ZnSO4 → CuSO4 + Zn ↓

Cu + 2AgNO3 → Cu(NO3)2 + 2Ag ⏐↓

Cu + FeSO4 → rCuSO4 + Fe ↓

3Ag + AuCl3 → 3AgCl + Au ↓

https://dl.doubtnut.com/l/_He2gw8nmRzNr
https://dl.doubtnut.com/l/_AN4fy5Jwuua4


1. The process ofcorrosion o�ron is known as rusting. Rust appears to be

a hydrated ferricoxide  Both  are required for

rusting. Iron can be protected from the rusting by use of following

compounds. 

i) Applying paints, lacquers and enamells on the surface o�ron ii) By

forming a �rm and coherent protective coating of ferroroferric oxide. This

is done by passing steam over hot iron 

iii) By coating a thin �lm of Zinc, Tin, Nickel, chromium, aluminium etc, on

the surface of iron If plated with Zinc, the reaction of products of Zinc

with  and  form a coating which sticks to the surface and there by

protects iron 

Zinc protects iron from corrosion because

A. It is an active metal

B. A sticky coating is formed on its surface on exposure to air

C. It is not a�ected by atmosphere

D. It has lower oxidation potential than iron

Fe2O3, xH2O, O2&H2O

O2 H2O

https://dl.doubtnut.com/l/_sQTLV6DMdn2u


Answer: B

Watch Video Solution

2. Corrosion is an elctrochenmical process . It involves

A. Loss of electrons by Iron,  . Ie, Iron acts as an

anode

B. Inpurities act as a cathode. Elements are used in forming hydroxyl

ions 

C. Ferrous ions are osidised to ferric ions in presence of dissolved

oxygen 

D. All the above reactions

Answer: D

Watch Video Solution

Fe → Fe+ 2 + 2e−

H2O + O + 2e− → 2OH −

2Fe+ 2 + O + H2O → 2Fe+ 3 + 2HO−

https://dl.doubtnut.com/l/_sQTLV6DMdn2u
https://dl.doubtnut.com/l/_5rt1zDsOzBem


3. For prevention of rusting of iron, which is used in paints ?

A. PbO

B. 

C. 

D. 

Answer: C

Watch Video Solution

PbO2

Pb3O4

PbSO4

4. Light green (Compund A)  White Reside (B) 

  

i) D & E are two acidic gases 

ii) D is pased through  solution to give yellow ppt  

iii) E is passed through water �rst and then  is passed, whith

turbidity is obtained 

Δ
−−→

High
−−−−−−−→
Temperature

C + D + E

HgCl2

H2S

https://dl.doubtnut.com/l/_5rt1zDsOzBem
https://dl.doubtnut.com/l/_ywbVxvbprxq8
https://dl.doubtnut.com/l/_f2q3m0xUbhj6


(iv) A is wter soluble and addition of  in it, white pp it obtained but

white ppt does no turn into grey on addition of excess solution of A 

'D' & 'E' are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HgCl2

SO2&SO3

SO3&SO2

SO2&CO2

CO2&CO

5. Light green (Compund A)  White Reside (B) 

  

i) D & E are two acidic gases 

ii) D is pased through  solution to give yellow ppt  

iii) E is passed through water �rst and then  is passed, whith

turbidity is obtained 

Δ
−−→

High
−−−−−−−→
Temperature

C + D + E

HgCl2

H2S

https://dl.doubtnut.com/l/_f2q3m0xUbhj6
https://dl.doubtnut.com/l/_Pt3TpoeO8w1L


(iv) A is wter soluble and addition of  in it, white pp it obtained but

white ppt does no turn into grey on addition of excess solution of A 

Yellow ppt in the above observation is

A. Mercuric oxide

B. Basic merucry (II) sulphite

C. Basic mercury (II) sulphate

D. Mercurous oxide

Answer: C

Watch Video Solution

HgCl2

6. Light green (Compund A)  White Reside (B) 

 

i) D & E are two acidic gases 

ii) D is pased through  solution to give yellow ppt  

iii) E is passed through water �rst and then  is passed, whith

turbidity is obtained 

Δ
−−→

High
−−−−−−−→
Temperature

C + D + E

HgCl2

H2S

https://dl.doubtnut.com/l/_Pt3TpoeO8w1L
https://dl.doubtnut.com/l/_PUtlI2yRwSTH


Practice Sheet 4 Match The Following Questions

(iv) A is wter soluble and addition of  in it, white pp it obtained but

white ppt does no turn into grey on addition of excess solution of A 

'C' is soluble. In

A. dil HCl

B. dil . 

C. 

D. Boile . Conc. HCl

Answer: D

Watch Video Solution

HgCl2

H2SO4

conc, CH3COOH

https://dl.doubtnut.com/l/_PUtlI2yRwSTH


Practice Sheet 4 Integer Answer Type Questions

1. Match of the following questions 

Watch Video Solution

2. Match of the following questions 

Watch Video Solution

1. How many maximum bonds are equivalent in the dichromates dianion ?

https://dl.doubtnut.com/l/_RhqGcvTvUCqI
https://dl.doubtnut.com/l/_KKAoPEbPsRL8
https://dl.doubtnut.com/l/_agz6C5vYX0tN


Watch Video Solution

2. How many of the following reagents can oxidise aqueous iodide to

iodine. 

Acidi�ed , Alkaline 

Watch Video Solution

K2Cr2O7

KMnO4, CuSO4H2O2Cl2, O3, FeCl3, HNO3andNa2S2O3

3. The no. of species having a megnetic of zero among

Watch Video Solution

Zn+ 2, Cr+ 5, Mn+ 2, Fe+ 3, Sc+ 3Mn+ 7, Ni+ 2

4. Perchromic acid  in ether will demposes radily in the presence

of  to form oxygen will produce in thi process

Watch Video Solution

(CrO5)

H2SO4

https://dl.doubtnut.com/l/_agz6C5vYX0tN
https://dl.doubtnut.com/l/_q2W08rA8iBQQ
https://dl.doubtnut.com/l/_TBnuUkbjz8me
https://dl.doubtnut.com/l/_EgdcmLF7mNay


Practice Sheet 5 Single Or More Than One Option Qustions

5. How many of the following alloys contain 'Al' metal 

Magnalium , Duralumin , Brass , Bronze , Rolled gold , Nickeloy, Nickel

steel, Invar, Alnico, Solder

Watch Video Solution

6. Dimethyl glyoxime form a square planar complex with  . This

complex contain how many number of unpaired electrons ?

Watch Video Solution

Ni+ 2

1. Lanthanides like Eu and Yb can form hydrodes like  and .

These hydrides are

A. Ionic hydrides

EuH2 Y bH2

https://dl.doubtnut.com/l/_EgdcmLF7mNay
https://dl.doubtnut.com/l/_8dpIkioohboJ
https://dl.doubtnut.com/l/_ubHiK4onD4vB
https://dl.doubtnut.com/l/_bGCHIxuvchNU


B. Covalent hydrides

C. Metallic hydrides

D. Intermediate hydrides

Answer: A

Watch Video Solution

2. Lanthanoid contraction implies

A. Decrease in density

B. Decrease in mass

C. Decrease in ionic radii

D. Decrease in radioactivity

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bGCHIxuvchNU
https://dl.doubtnut.com/l/_kezDLiL13OAG
https://dl.doubtnut.com/l/_wnTQYG1xjf6r


3. If the lanthanoid element with x'f electrons has a pink colour, then the

lanthanoid with (14-x)f electrons will have the colour as

A. Blue

B. Red

C. green

D. Pink

Answer: D

View Text Solution

4. The electronic con�guration of actinoides cannot be assigned with

degree of certainty because of

A. Overlapping of inner orbitals

B. Free moment of electrons over all the orbitals movement

C. Small energy di�erence between 5f and 6d levels

https://dl.doubtnut.com/l/_wnTQYG1xjf6r
https://dl.doubtnut.com/l/_WJDpyldxBpiB


D. None of the above

Answer: C

Watch Video Solution

5. The sum of the �rst three ionization energies of the lanthanoides Ce,

Eu, Gd, Yb, Lu is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ce > E > Fe > Y b > Lu

Y b > Lu > Eu > Gd > Ce

Y b > Eu > Gd > Ce

Y b > Eu > Lu > Gd > Ce

https://dl.doubtnut.com/l/_WJDpyldxBpiB
https://dl.doubtnut.com/l/_euaPLH9pwEK1


6. The reason for the stability of  ion is

A. 4f sub shell half-�lled

B. 4f sub shell completely �lled

C. possesses the electronic con�guration of noble gases

D. 4f sub shell empty

Answer: A

Watch Video Solution

Gd3 +

7. The +3 ion of which one of the following has half �lled 4f subshell ?

A. La

B. Nd

C. Gd

D. Ac

https://dl.doubtnut.com/l/_hGROGu0SrSJ3
https://dl.doubtnut.com/l/_4ECTzycVluKJ


Answer: C

Watch Video Solution

8. Lanthanide for which +2 and +3 oxidation states are common is

A. La

B. Nd

C. Ce

D. Eu

Answer: D

Watch Video Solution

9. What is Misch metal ? Given its composition and use.

A. An alloy ofAi

https://dl.doubtnut.com/l/_4ECTzycVluKJ
https://dl.doubtnut.com/l/_RYBOsDBwaB36
https://dl.doubtnut.com/l/_cEfOwN1Nrxf3


B. A mixture of chromium and 

C. An alloy of lanthanoid metals

D. An alloy of copper

Answer: C

Watch Video Solution

PbCrO4

10. More number of oxidation states are exhibited by the actinoids than

by the lanthanoids. The main reason for this is

A. Greater metallic character of the lanthanoids then that of the

corresponding actinoids

B. More active nature of the actinoids

C. More energy di�erence between 5f and 6d orbitals than between 4f

and 5d orbital's

https://dl.doubtnut.com/l/_cEfOwN1Nrxf3
https://dl.doubtnut.com/l/_wPZLAK2OEbi3


D. Lower energy di�erence between 5f and 6d orbitals than between

4f and 5d orbital's

Answer: D

Watch Video Solution

11. Which of the following are correct about actinoids ?

A. They show large number of oxidation states

B. They show actinoid contraction

C. They form oxo-cations

D. All of the are radioactive

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_wPZLAK2OEbi3
https://dl.doubtnut.com/l/_b6Q8GbCdCgYL


12. Which of the following characteristics of lanthanides is correct ?

A. Reducing property of lanthanides decreases from La to Lu

B. Complex forming ability of lanthanides increases from La to Lu

C. Basic character of the oxides and hydroxides increases from La to

Lu

D. Lanthanides form stable compounds only in + 3 oxidation state

Answer: A::B::D

Watch Video Solution

13. Which of the following statements concerning transition elements is

not true?

A. Lanthanides are seperated from one another by an exchange

method

https://dl.doubtnut.com/l/_c15Q98JxFsMQ
https://dl.doubtnut.com/l/_OnFWwJ7HM8oI


B. Ipnic radii of trivalent lanthanides steadily increases with increase

in the atomic number

C. All lanthanides are dense metals

D. More characteristic oxidation state of lanthanide elements is + 3

Answer: A::C::D

Watch Video Solution

14. Identify the incorrect statement among the following ?

A. Shielding power of 4f electrons is quite weak

B. There is a decrease in the radii of the atoms or ions while

proceeding from La to Lu

C. Lanthanoid contraction is the accumulation of successive

shrinkages

https://dl.doubtnut.com/l/_OnFWwJ7HM8oI
https://dl.doubtnut.com/l/_ds4zfzNWX3fi


D. As a result of lanthanoid contraction, the properties of 4d series of

the transition elements have no similarities with 5d series of

elements

Answer: D

Watch Video Solution

15. The �rst ionization enthalpy of 5d series elements are highest as

compared to 3d and 4d elements because

A. Weak shielding of nucleus by 5f-electrons

B. Weak shielding of nucleus by 4f-electrons

C. Strong shielding of nucleus by 5d electrons

D. Strong shielding of nucleus by 4d-electrons

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ds4zfzNWX3fi
https://dl.doubtnut.com/l/_yJihtVAXuv8S


Practice Sheet 5 Linked Comprehension Type Questions

16. Consider the following statements 

(1) The basic strength of hydroxides of lanthanides decreases from

  

(2) The lanthanoid ion  are diamagnetic 

(3) The corret order of ionic radii of

 

Which of the statemnets given above is / are correct ?

A. 1 only

B. 1,2 only

C. 1,2 and 3

D. None to these

Answer: B

Watch Video Solution

La(OH)3  to Lu(OH))
3

Lu3 +Y b2 + and Ce4 +

Ce3 + , La3 +Pm3 + and Y b3 + isY b3 + < Pm3 + < La3 + < Ce3 +

https://dl.doubtnut.com/l/_yJihtVAXuv8S
https://dl.doubtnut.com/l/_yqAd3mKIXc0B


1. f-block elements exhibit di�erent oxidation state, colour, complex

formation like properties. The size o�anthanides decreases due to poor

screening e�ect of 4f electrons. It is called lanthanide contraction.

Lanthanide hydroxides are basic in nature 

The colour of lanthanide ion is due to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

La3 + > Ce3 + > Pm3 + > Y b3 +

Y b3 + < La3 + < Ce3 + < Pm3 +

La3 + < Ce3 + < Pm3 + < Y b3 +

Y b3 + < Pm3 + < La3 + < Ce3 +

2. f-block elements exhibit di�erent oxidation state, colour, complex

formation like properties. The size o�anthanides decreases due to poor

https://dl.doubtnut.com/l/_wnmV8Rvnlsx3
https://dl.doubtnut.com/l/_cUfP7L1DEDVA


screening e�ect of 4f electrons. It is called lanthanide contraction.

Lanthanide hydroxides are basic in nature 

The colour of lanthanide ion is due to

A. f-f transitions in partially �lled f-orbitals

B. f-f transitions in completely �lled f-orbitals

C. both

D. None

Answer: A

Watch Video Solution

3. f-block elements exhibit di�erent oxidation state, colour, complex

formation like properties. The size o�anthanides decreases due to poor

screening e�ect of 4f electrons. It is called lanthanide contraction.

Lanthanide hydroxides are basic in nature 

The colour of lanthanide ion is due to

https://dl.doubtnut.com/l/_cUfP7L1DEDVA
https://dl.doubtnut.com/l/_H5w6EWBWGJS2


A. Ce

B. Lu

C. Gd

D. All are same

Answer: A

Watch Video Solution

4. The f-block consists of the two series lanthanoids and actinoids.

Because Lanthanum closely resembles the Lanthanoids. The Lanthanoid

resemble one another more closely than do the members ofordinary

transition elements in any series. They have only one stable oxidation

state. The chemistry of the actinoids is on the other hand, much more

complicated. The complication arises partly owing to the occurance ofa

wide range of oxidation states in these elements and partly because their

radioactivity creates special problems in their study 

Wrong statement of the following is

https://dl.doubtnut.com/l/_H5w6EWBWGJS2
https://dl.doubtnut.com/l/_z390zjEyYHcn


A. Atomic radius of Lanthanoids decreases steadilyfrom Ce to Lu

B. The sheilding of a 4f electron by another is less than one d-electron

by another with increase in nuclear charge along the series

C. Identical radii of Zr and Hf is a consequence of Lanthanoide

contraction

D.  is a strong oxidising agents

Answer: A

Watch Video Solution

Ce+ 4

5. Which of the following is non a use of Lanthanoides

A. Misch metal is an alloy of Lanthanoid metal used to produce

bullets, shells

B. Oxides of Lanthanoids can be used a catalysts in petroleum

cracking

https://dl.doubtnut.com/l/_z390zjEyYHcn
https://dl.doubtnut.com/l/_x6yZ9BvqfSXf


C. Oxides of some Lanthanoids are used as phosphors in television

screens

D. All Lanthanoids are good oxidising agents in +3 state

Answer: D

Watch Video Solution

6. i) Common oxidation state of actinoids is + 3 (Except thorium) 

ii) Maximum O.S of acitnoids is +7 

(iii) Actionoids evolve  with alkali's  

(iv) Con�guration of thorium is [Rn]   

Correct statements are

A. i,iii

B. i,ii,iii

C. i,ii,iv

D. all are correct

H2

5t06d27s2

https://dl.doubtnut.com/l/_x6yZ9BvqfSXf
https://dl.doubtnut.com/l/_lFYD6pn8H4kU


Practice Sheet 5 Match The Following Questions

Answer: C

View Text Solution

1. Match the following questions 

Watch Video Solution

2. Match the following questions 

https://dl.doubtnut.com/l/_lFYD6pn8H4kU
https://dl.doubtnut.com/l/_hinPkVQBJPcp
https://dl.doubtnut.com/l/_44Hq26hzWG15


Practice Sheet 5 Integer Answer Type Questions

Watch Video Solution

1. How many incomplete orbitals are present in inner transition elements

?

Watch Video Solution

2. No.of 'f' electrons in ground state of Thorium

Watch Video Solution

3. Max no.of unpaired  in ground state of Gadolinium (Gd, Z =64)

Watch Video Solution

e−

https://dl.doubtnut.com/l/_44Hq26hzWG15
https://dl.doubtnut.com/l/_dyT5zEZ7amHa
https://dl.doubtnut.com/l/_mLBxeBfV6YHu
https://dl.doubtnut.com/l/_iE4SEpgHXO5S


4. Highest oxidation state exhibited by as actinoid is

Watch Video Solution

5. Rare earth metals belongs to the ....... column of moder periodic table

Watch Video Solution

6. Number of electrons in outer most shell of Ce (Z = 58)

Watch Video Solution

https://dl.doubtnut.com/l/_j3RdWgn0wiUJ
https://dl.doubtnut.com/l/_DNaguvsjzpop
https://dl.doubtnut.com/l/_VYdkAwdP6Ib0

